# Kansas Register

Vol. 40, No. 31

August 5, 2021

Pages 1215-1240

In this issue	Page
Legislative Branch Legislative Administrative Services Interim Committee Schedule	1217
Rates	
Pooled Money Investment Board Notice of Investment Rates	1217
Secretary of State Code Mortgage Rate for August	1217
Notices	
Kansas Department of Administration – Office of Facilities and Property Manage Notice of Requested Civil Engineering Services	ement
Kansas Children's Cabinet and Trust Fund Notice of Meeting	
Kansas Department of Transportation Notice to Consulting Firms for Guardrail Set-Aside Program	
Kansas Department of Administration – Office of Procurement and Contracts Notice to Bidders for State Purchase	1219
Board of Regents Universities Notice to Bidders	1219
Kansas Department of Health and Environment Notice Concerning Water Pollution Control Permits and Applications	1220
Opinions	
Governmental Ethics Commission Opinion No. 2021-01	1222
Bonds	
City of Topeka, Kansas Summary Notice of Bond Sale	1223
Kansas Development Finance Authority Notice of Hearing on Proposed Agricultural Development Revenue Bonds	1224
Regulations	
Kansas State Board of Healing Arts Notice of Hearing on Proposed Administrative Regulation	1224
Kansas Department of Revenue Permanent Administrative Regulation	1225
Kansas Lottery Temporary Administrative Regulations	1225
Index to administrative regulations	1237

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. Periodicals postage paid at Topeka, Kansas.

**POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 SW 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2020. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF Format) can be found at the following link: http://www.sos.ks.gov/publications/ kansas-register.html.

Register Office: 1st Floor, Memorial Hall 785-368-8095 kansasregister@ks.gov



Published by Scott Schwab Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594 785-296-4564 www.sos.ks.gov

**Cover Artwork:** Coronado Heights, Saline County Photo by Todd Caywood

Kansas Register .

# State of Kansas

# Legislative Administrative Services

# **Interim Committee Schedule**

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

Date	Room	Time	Committee	Agenda
Aug. 10-11	112-N	9:00 a.m.	Robert G. (Bob) Bethell Joint Committee on Home and Community Based Services/ KanCare Oversight	State Agencies and Managed Care Organizations (MCOs) on unresolved issues; KDHE update; KDADS update; Maternal Health Supports; KanCare presentations; PACE overview; Long- term Care Facilities update
Aug. 17	Clarion Inn 1911 E. Kansas Ave., Garden City, KS	1:30 p.m.	House Water Committee	Lakin Water Treatment Plant; Amazon Ditch Flume
Aug. 18	Garden City Community College Endowment Room, Beth Tedrow Student Center, 801 Campus Dr., Garden City, KS	8:45 a.m.	House Water Committee	Water quality and quantity issues; infrastructure challenges; state water agency organization and funding; Locally Enhanced Management Area (LEMA) panel presentation; Aquifer issues in western Kansas
Aug. 19	112-N	9:00 a.m.	Joint Committee on Information Technology	TBD
				Tom Day, Director

Doc. No. 049337

#### State of Kansas

# **Pooled Money Investment Board**

#### Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d) and K.S.A. 12-1675a(g).

Effective 8-2-21 through 8-8-21		
Term	Rate	
1-89 days	0.09%	
3 months	0.01%	
6 months	0.03%	
12 months	0.07%	
18 months	0.13%	
2 years	0.19%	

Scott Miller Director of Investments

Doc. No. 049330

State of Kansas

# Secretary of State

#### **Code Mortgage Rate for August**

Pursuant to the provisions of K.S.A. 16a-1-301, Section 11, the code mortgage rate during the period of August 1-31, 2021, is 12 percent. The reference rate referred to in

the definition of "code mortgage rate" set forth in K.S.A. 16a-1-301(11)(b)(i) is discontinued, has become impractical to use, and/or is otherwise not readily ascertainable from the Federal Home Loan Mortgage Corporation.

Legislative Administrative Services

Scott Schwab Secretary of State

Doc. No. 049338

#### State of Kansas

# Department of Administration Office of Facilities and Property Management

#### Notice of Requested Civil Engineering Services

Notice is hereby given of the commencement of the selection process for civil engineering services for Sunnyside Avenue and Naismith Drive Reconstruction, University of Kansas, Lawrence. The estimated project cost is \$5,500,000.

An architectural/engineering program is available at http://admin.ks.gov/offices/ofpm/dcc/arch-eng-programs. For more information, contact Mark Reiske at dcmmlr@ku.edu, phone 785-864-3432.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. These forms may be found at (continued) http://admin.ks.gov/offices/ofpm/dcc/f-and-d. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation, and an abbreviated project name in the title of the PDF document. Proposals should be less than 5 Mb and follow the current State Building Advisory Commission guidelines which can be found in Part B – Chapter 2 of the Building Design and Construction Manual at http://www.admin.ks.gov/offices/ofpm/dcc/bdcm. Paper copies and flash drives containing copies of the proposals are not required.

Proposals should be sent to professional.qualifications@ ks.gov to the attention of Randy Riveland by 2:00 p.m. on or before August 20, 2021. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions, please call 785-296-0749. The PEF proposal submissions shall be delivered to the attention of Randy Riveland by 2:00 p.m. on or before August 20, 2021.

The State of Kansas, as a matter of public policy, encourages anyone doing business with the State of Kansas to take steps to discourage human trafficking. If prospective bidders/vendors/contractors have any policies or participate in any initiatives that discourage human trafficking, then the prospective bidder/vendor/contractor is encouraged to submit same as part of their bid response.

Frank Burnam, Director

Office of Facilities and Property Management Doc. No. 049331

#### State of Kansas

# Children's Cabinet and Trust Fund

#### Notice of Meeting

The Kansas Children's Cabinet and Trust Fund board will be conducting its quarterly board meeting from 9:00 a.m. to 12:00 p.m. Friday, August 6, 2021, via Zoom. Information about the meeting and a copy of the agenda can be found at http://www.kschildrenscabinet.org. Questions can be sent to dadegbore@ksde.org.

Melissa Rooker Executive Director

Doc. No. 049332

#### State of Kansas

# **Department of Transportation**

#### Notice to Consulting Firms

The Kansas Department of Transportation (KDOT) is seeking qualified consulting engineering firm(s) for the project listed below. Interested consulting firms must: (a) be prequalified by KDOT or otherwise demonstrate qualification in the following category: Category 212 Highway Design Minor Facility. A PDF must be emailed to David Lutgen, P.E., Contracts Engineer at kdot.designcontracts@ks.gov. Responses are to be limited to eight pages, the subject line of the reply email and the file name must read "Guardrail Set-Aside Program – Firm Name." Request for Proposals (RFPs) must be received by August 13, 2021, for the consulting firm to be considered.

If a firm is not currently prequalified by KDOT a response may still be submitted. Firms not prequalified must also provide documentation that demonstrates the firm is qualified for each specified category listed in this notice for the project. Firms may use the KDOT prequalification form to provide this documentation. KDOT 1050 Prequalification category definitions (Blue Book) can be found at http://www.ksdot.org/descons.asp. All firms doing business with KDOT must be registered and in good standing under the laws of the State of Kansas at the time of contracting and must comply with applicable state and federal laws, rules, and regulations.

#### Project

The KDOT guardrail set-aside program is a program to remove/replace all blunt end guardrail terminals on the National Highway System (NHS) in Kansas.

#### Scope of Services to be Performed

Prepare construction drawings and summary memos for a 2023 FY construction letting for the locations shown on the attached list.

One consultant will be selected for this project.

Project Bundle	Fiscal Year	Route	County (No.)
15	2023	US-56	Edwards (24)
16	2023	US-56	Pawnee (73)
16	2023	US-56	Pawnee (73)
16	2023	US-56	Pawnee (73)
20	2023	US-54	Woodson (104)
23	2024	US-169	Anderson (2)
23	2024	US-169	Anderson (2)
23	2024	US-169	Anderson (2)
23	2024	US-169	Anderson (2)
24	2024	US-169	Anderson (2)
25	2024	US-166	Chautauqua (10)
25	2024	US-166	Chautauqua (10)
25	2024	US-166	Chautauqua (10)
25	2024	US-166	Chautauqua (10)
26	2024	US-166	Montgomery (63)
26	2024	US-166	Montgomery (63)
26	2024	US-166	Montgomery (63)
28	2024	US-169	Montgomery (63)

#### **Anticipated Schedule for Subsequent Events**

RFPs are due by 12:00 p.m. (CST) August 13, 2021. Evaluation and ranking of technical proposals on or about August 25, 2021, after which time all firms that submitted will be notified of the ranking. Negotiations with the most highly ranked firm to commence on or about September 15, 2021. Agreement in place and in effect October 6, 2021. RFPs are to be delivered via email to kdot. designcontracts@ks.gov.

#### **Instructions for Proposal**

No costs shall be contained in the RFP. The RFP must not exceed eight (8) pages total to address the pertinent topics. Please use the following naming convention for submittal...Guardrail Set-Aside Program – Firm Name. RFPs submitted will consist of the proposal and a completed and signed Special Attachment No. 7 ("Certificate of Final Indirect Costs"), a completed and signed Special Attachment No. 8 ("Tax Clearance Certificate"), and a completed and signed Special Attachment No. 10 ("Policy Regarding Sexual Harassment"). Subconsultants will need to complete these attachments as well. All these forms are attached to the original email announcement.

RFPs shall describe any processes or procedures, including best practices, that will be used to perform tasks and to produce deliverables described above under "Scope of Services to be Performed." Also, include items such as:

- Project manager/engineer in charge.
- History of projects with similar tasks.
- Availability of staff to meet schedule without overtime.
- Familiarity with KDOT standards and content.
- Any subconsultant and their role (if any) that will be performing services on the project

#### **Evaluation Factors**

RFPs will be evaluated based on the factors listed below, evenly weighted, to rank the most qualified firm in order of preference as first, second, third, etc. Evaluation factors: 1) the quality and completeness of the response; 2) qualifications and experience of consultant design personnel/manager proposed for services; 3) proposed project approach; 4) availability to respond to the work; and 5) past performance history for similar projects/services for KDOT. The highest ranked firm will be asked to enter into negotiations with KDOT for an agreement. In the event KDOT cannot reach agreement with the ranked firm, it will terminate negotiations with such firm and commence negotiations with the next highest ranked firm, and so on, until either agreement is reached for a satisfactory scope of services for a fair and reasonable price, or KDOT decides to pursue other alternatives.

#### **Exhibits to this RFP**

- Special Attachment No. 7 ("Certificate of Final Indirect Costs")
- Special Attachment No. 8 ("Tax Clearance Certificate")
- Special Attachment No. 10 ("Policy Regarding Sexual Harassment")

#### **Contract Terms and Conditions**

A standard KDOT agreement for engineering and technical services will be used for this project. Special Attachments for the Kansas "Tax Clearance Certificate," the "Certification of Final Indirect Costs," and the Special Attachment No. 10 ("Policy Regarding Sexual Harassment") will also eventually become attachments to the contract.

Questions about this RFP shall be sent by email to KDOT at kdot.designcontracts@ks.gov.

Calvin E. Reed, P.E. Director Division of Engineering and Design

Doc. No. 049326

State of Kansas

# Department of Administration Office of Procurement and Contracts

#### Notice to Bidders

Sealed bids for items listed will be received by the Office of Procurement and Contracts until 2:00 p.m. on the date indicated. For more information, call 785-296-2376:

All bids are to be submitted via email only to procurement@ks.gov. For more information, please visit https://admin.ks.gov/docs/default-source/ofpm/procure-ment-contracts/bid-submission-via-email-12-7-2020.pdf.

08/12/2021	EVT0008135	Beet Juice/De-icer
08/24/2021	EVT0008095	Transport Bus
08/30/2021	EVT0008141	Wildlife and Parks Fishing Derby
		and Angler Survey
08/31/2021	EVT0008140	Rest Area Maintenance (4 sites in
		NW Kansas)
09/01/2021	EVT0008138	Pharmacy Benefit Management
		(SSIF)
09/01/2021	EVT0008139	Highway Patrol Website
		· ·

The above referenced bid documents can be down-loaded at the following website:

#### https://supplier.sok.ks.gov/psc/sokfsprdsup/SUPPLIER/ ERP/c/SCP\_PUBLIC\_MENU\_FL.SCP\_PUB\_BID\_CMP\_ FL.GBL

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

#### http://admin.ks.gov/offices/procurement-and-contracts/ additional-files-for-bid-solicitations

08/26/2021	A-014273	KDWPT; 1020 Kansas Reroof
08/26/2021	A-014297	KSU; BRI Vaccine Research
		Renovation
09/02/2021	A-014303	KDOT; Mankato Metal Building
		Reroofs

Information regarding prequalification, projects, and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Richard Beattie, Directo	r
Office of Procurement and Contract	s

Doc. No. 049339

# State of Kansas

# **Board of Regents Universities**

#### Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids, or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: https://www. emporia.edu/about-emporia-state-university/business-(continued) office/purchasing/. Additional contact info: phone: 620-341-5134, fax: 620-341-6770, email: purchaseorders@ emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Circle, Emporia, KS 66801.

Fort Hays State University – Electronic bid postings: http://www.fhsu.edu/purchasing/bids/. Additional contact info: phone: 785- 628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State University Purchasing Office, 601 Park St., Sheridan Hall 318, Hays, KS 67601.

Kansas State University – Bid postings: https://www. k-state.edu/purchasing/rfq. Due to Covid-19, Kansas State University will not be accepting paper bids until further notice. Division of Financial Services/Purchasing, 2323 Anderson Ave., Kansas State University, Manhattan, KS 66506. Additional contact info: phone: 785-532-6214, fax: 785-532-5577, email: kspurch@k-state.edu.

**Pittsburg State University** – Bid postings: https://www. pittstate.edu/office/purchasing/. Additional contact info: phone: 620-235-4169, email: bstefanoni@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762.

University of Kansas – Electronic bid postings: http:// www.procurement.ku.edu/. Due to Covid-19, the University of Kansas will not be accepting paper bids until further notice. KU Purchasing Services, 1246 W. Campus Road, Room 30, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu.

University of Kansas Medical Center – Bid postings: http://www.kumc.edu/finance/purchasing/bidopportunities.html. Additional contact info: phone: 913-588-1117. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University – Bid postings: http://www. wichita.edu/purchasing. Additional contact info: phone: 316-978-3080, fax: 316-978-3738, email: purchasing.office@ wichita.edu. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 38, Wichita, KS 67260-0038.

> Debbie Redeker Chair of Regents Purchasing Group Purchasing Director Emporia State University

Doc. No. 048393

#### State of Kansas

# **Department of Health and Environment**

#### Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57a through 63, 28-18-1 through 17, 28-18a-1 through 31 and 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations, and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation, and reissuance of the designated permit or termination of the designated permit.

# Public Notice No. KS-AG-21-248/256 Pending Permits for Confined Feeding Facilities

0		0
Name and Address of Applicant	Legal Description	Receiving Water
McGatlin Cattle, LLC Evan McGatlin 1223 Sunflower Rd. Greenleaf, KS 66943	SE/4 of Section 31 T03S, R04E Washington County	Big Blue River Basin

Kansas Permit No. A-LRWS-B004

The proposed action is to issue a new state permit for a facility for 999 head (999 animal units) of cattle weighing more than 700 pounds. The facility will consist of approximately 7.9 acres of open pens and a waste management system consisting of a sediment basin and a wastewater retention structure. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
KC Pork, Inc. – Arrowhead West Kent F. Condray 451 3rd Rd. Clifton, KS 66937	NW/4 of Section 8 T055, R01E Washington County	Lower Republican River Basin

Kansas Permit No. A-LRWS-S036

The proposed action is to reissue an existing state permit for an existing facility for 2,400 head (960 animal units) of swine more than 55 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Michael and Regina Rencin PO Box 134 Barnes, KS 66933	SW/4 of Section 20 T03S, R05E Washington County	Big Blue River Basin

Kansas Permit No. A-BBWS-S041

The proposed action is to reissue an existing state permit for an existing facility for 2,000 head (800 animal units) of swine more than 55 pounds and 1,950 head (195 animal units) of swine 55 pounds or less, for a total of 995 animal units. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
D & S Cattle Co., LLC 158 All American Rd. Barnes, KS 66933	W/2 of Section 27 T05S, R05E Washington County	Big Blue River Basin

Kansas Permit No. A-BBWS-C009 Federal Permit No. KS0100251 The proposed action is to reissue an existing NPDES permit for an existing facility for 3,000 head (3,000 animal units) of cattle weighing more than 700 pounds and 2,999 head (1,499.5 animal units) of cattle weighing 700 pounds or less for a total maximum capacity of 5,999 head (4,999.5 animal units) of cattle. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Gold Standard Farms, LLC – Osborne 331 3rd St. NW Waucoma, IA 52171	SW/4 of Section 14 T08S, R13W Osborne County	Solomon River Basin

Kansas Permit No. A-SOOB-S011

Notices

The proposed action is to reissue an existing state permit for an existing facility for of 2,078 head (831.2 animal units) of swine more than 55 pounds, and 1,250 head (125 animal units) of swine 55 pounds or less, for a total of 3,328 head (956.2 animal units) of swine. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Robert Becker 1275 110 Rd.	NE/4 of Section 6 T08S, R10W	Solomon River Basin
Cawker City, KS 67430	,	

Kansas Permit No. A-SOMC-B008

The proposed action is to reissue an existing state permit for an existing facility for 400 head (200 animal units) of cattle less than 700 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Stewart Feedyard Shannon Stewart PO Box 163 Tribune, KS 67879	SE/4 of Section 29 T18S, R39W Greeley County	Upper Arkansas River Basin

Kansas Permit No. A-UAGL-B005

The proposed action is to reissue an existing state permit for an existing facility for 900 head (450 animal units) of cattle 700 pounds or less. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Waste Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water	
Prairie Pig Feeders, Inc. Daniel Massoni PO Box 1159 Paris, TX 75462	SW/4 of Section 5 T335, R31W Seward County	Cimarron River Basin	
Kansas Permit No. A-CISW-H003			

Federal Permit No. KS0089311

The proposed action is to reissue an existing NPDES permit for an existing facility for 4,180 head (1,672 animal units) of swine more than 55 pounds. There will be no change in the operation or permitted number of animal units from the previous permit. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Keesecker Agri- Business, Inc. 2069 Prairie Rd. Washington, KS 66968	NE/4 of Section 22 T02S, R03E Washington County	Big Blue River Basin

Kansas Permit No. A-BBWS-H007 Federal Permit No. KS0095699

The proposed action is to approve an update to the Nutrient Management Plan (NMP) received for this existing facility currently permitted for 3,822 head (1,528.8 animal units) of swine weighing more than 55 pounds and 4,332 head (433.2 animal units) of swine weighing 55 pounds or less; for a total of 1,962 animal units of swine. The facility's NMP was updated to include the addition of two new land application fields. There are no changes to the permit or in the permitted number of animal units. Only the updated portion of the Nutrient Management Plan is subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Persons wishing to comment on or object to the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment (KDHE) if they wish to have the comments or objections considered in the decision-making process. All written comments regarding the draft documents, application or registration notices received on or before September 4, 2021, will be considered in the formulation of the final determination regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-21-248/256) and name of the applicant/ permittee when preparing comments.

All comments received will be responded to at the time the Secretary of Health and Environment issues a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC). A request for public hearing must be submitted in writing and shall state the nature of the issues proposed to be raised during the hearing.

Comments or objections for agricultural related draft documents, permit applications, registrations or actions should be submitted to the attention of Matthew Steele Ph.D., P.E., Section Chief, Livestock Waste Management Section at the KDHE, Bureau of Environmental Field Services (BEFS), 1000 SW Jackson, Suite 430, Topeka, KS 66612. Comments or objections for all other proposed permits or actions should be sent to Michael Beezhold at the KDHE, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612.

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the KDHE. For agricultural related draft documents or applications an appointment can be scheduled, or copies requested by contacting Rachel Hammond, BEFS, Livestock Waste Management Section at 1000 SW Jackson St., Suite 430, Topeka, KS 66612, telephone 785-296-0076 or email at kdhe.feedlots@ks.gov. For all other proposed permits or actions an appointment can be scheduled, or copies requested by contacting Christopher Zwiener, Bureau of Water, 1000 SW Jackson St., Suite 420, Topeka, KS 66612, telephone 785-296-3056 or email at Christopher. Zwiener@ks.gov. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and spec-(continued) ifications for all new and expanding swine facilities are available at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8:00 a.m. to 5:00 p.m., Monday through Friday, excluding holidays.

> Lee A. Norman, M.D. Secretary

Doc. No. 049335

#### State of Kansas

# **Governmental Ethics Commission**

# **Opinion No. 2021-01**

Written July 28, 2021, to Ms. Judith A. Taylor, General Counsel, Kansas Gaming and Racing Commission, Eisenhower State Office Building,700 SW Harrison St., Suite 500, Topeka, KS 66603.

**Synopsis:** A state employee with two separate state positions may accept compensation from each.

Cited herein: K.S.A. 46-221(a), 75-3223, 74-8803(j) and 46-235.

# Dear Ms. Taylor:

We understand you request our opinion concerning application of the state governmental ethics laws, K.S.A. 46-215 *et seq.*, as general counsel for the Kansas Racing and Gaming Commission. Our opinion in response to the request is limited in its applicability. This opinion does not address whether some other statutory system, common law theory, or agency rule or regulation applies to your inquiry.

# **Factual Statement**

The opinion request provides the following facts:

Our commissioner is employed by the Kansas Department of Transportation (KDOT). Her position had been full-time, unclassified, non-exempt and hourly. She has recently reduced her hours and is now working as a part-time, unclassified, non-exempt, hourly employee, working approximately twenty hours per week, typically five days per week. Her duties for the commission require her to, among other things, attend commission meetings, review licensee background reports, analyze complex financial documents, review and approve contracts related to gaming, and review disciplinary case documentation in preparation for meetings and hearings. Her duties as a [Kansas Racing and Gaming Commission (KRGC)] commissioner do not involve approving KDOT contracts or performing any duties related to KDOT.

# Question

Would it be an ethics violation for a commissioner to accept per diem compensation for work on the commission that is performed on the same day that the commissioner works part-time hours for the Kansas Department of Transportation (KDOT), but during the time that she is not on the schedule working for KDOT (i.e. during the "free," non-paid portion of her working day?)

# **Analysis and Opinion**

"State officer or employee" is defined by K.S.A. 46-221, which provides in pertinent part:

(a) ... (2) any individual who is in the classified service or unclassified service of the Kansas civil service act, ...and (4) any individual who receives monthly or semimonthly compensation for services from the state or any state agency. ...Also, state officer or employee does not include any appointed member of an advisory council, commission or board, who serves without compensation other than amounts for expense allowances or reimbursement of expenses as provided for in subsection (e) of K.S.A. 75-3223 and amendments thereto, when such member is engaged in performing a function or duty for such council commission or board.

From the facts provided, we find the commissioner in question is a state employee based upon her KDOT employment. We further find that she is a state employee as a KRGC commissioner based upon the receipt of a per diem as provided in K.S.A. 74-8803(j), in addition to the amounts for allowances and reimbursements provided for in K.S.A. 75-3223(e).

We cannot opine regarding K.S.A. 75-3223(a), since that provision is not involved in interpreting the K.S.A. 46-221(a) definition of "state officer or employee." However, it does contain the same language as subsection (e): "whenever it is provided by law." We see no reference in K.S.A. 74-8803(j) to 75-3223(a) which would make it apply to KRGC commissioner per diems.

We next consider K.S.A. 46-235, which provides:

No state officer or employee shall accept compensation for performance of official duties, other than that to which such person is entitled for such performance. No person shall pay or offer to pay any state officer or employee performing official duties in making payments to state officers and employees. The receipt of wages or salary from an individual's non-state employer during a period of service as a state officer or employee shall not be construed as compensation for performance of official duties.

The facts demonstrate no overlaps between commissioner's schedule and official duties at KRGC and those at KDOT. Consequently, the respective compensation received for each position could not be for the performance of official duties at the other. Under these circumstances a violation of K.S.A. 46-235 does not occur.

# Conclusion

We concur with your conclusion that K.S.A. 46-235 "would not prohibit a commissioner from accepting part time pay from KDOT and a per diem from KRGC when working in both positions on the same day because the official duties performed for the KRGC have no overlap with the official duties performed for KDOT, and the work performed for KRGC would not be performed during time compensated by KDOT."

Sincerely,

Nicholas Hale, Chairman By Direction of the Commission

Doc. No. 049336

(Published in the Kansas Register August 5, 2021.)

# City of Topeka, Kansas

Summary Notice of Bond Sale \$21,045,000\* General Obligation Refunding and Improvement Bonds Series 2021-C

# (General Obligation Bonds Payable from Unlimited Ad Valorem Taxes)

#### Bids

Subject to the Notice of Bond Sale dated July 29, 2021, (the "Notice"), facsimile and electronic bids will be received on behalf of the Interim Director of Administrative and Financial Services of the City of Topeka, Kansas (the "Issuer") in the case of facsimile bids, at the fax number set forth below, and in the case of electronic bids, via http://www.columbiacapitalauction.com (the "Columbia Capital Auction"), until 10:00 a.m. (CST) for the General Obligation Refunding and Improvement Bonds, Series 2021-C, (the "Bonds"), August 17, 2021, for the purchase of the Bonds. No bid of less than 98.0% of the principal amount of the Bonds and accrued interest thereon to the date of delivery will be considered.

# **Bond Details**

The Bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The Bonds will be dated September 14, 2021. The Bonds will become due August 15 in the years as follows:

	Principal		Principal
Year	Amount*	Year	Amount*
2022	\$2,170,000	2030	\$1,480,000
2023	1,960,000	2031	1,495,000
2024	2,045,000	2032	655,000
2025	2,125,000	2033	660,000
2026	2,205,000	2034	670,000
2027	1,360,000	2035	675,000
2028	1,415,000	2036	685,000
2029	1,445,000		

The Bonds will bear interest from the date thereof at rates to be determined when the Bonds are sold as hereinafter provided, which interest will be payable semiannually on February 15 and August 15 in each year, beginning on February 15, 2022.

# \*Adjustment of Issue Size

The Issuer reserves the right to increase or decrease the total principal amount of the Bonds, depending on the purchase price and interest rates bid and the offering prices specified by the Successful Bidder and savings generated in connection with the refunding of certain general obligation bonds of the Issuer (the "Refunded Bonds"). The principal amount of any maturity may be adjusted by the Issuer in order to properly size the Bond, structure certain funds and accounts and substantially obtain debt service parameters determined by the Issuer. In formulating bids, bidders should consider that bids generating significant premium may lead to post-bid revisions by the Issuer as described above, resulting in greater principal amortization in later years, and bids generating significant discount my lead to post-bid revisions by the Issuer as described above, resulting in greater principal amortization in earlier years. The Successful Bidder may not withdraw its bid or change the interest rates bid as a result of any changes made to the principal amount of the Bonds or principal of any maturity as described herein. If there is an increase or decrease in the final aggregate principal amount of the Bonds or the schedule of principal payments as described above, the Issuer will notify the Successful Bidder by means of telephone or facsimile transmission, subsequently confirmed in writing, no later than 12:00 p.m. (CST) on the Sale Date. The actual purchase price for each series of Bonds shall be calculated by applying the percentage of par value bid by the Successful Bidder against the final aggregate principal amount of such series of Bonds, as adjusted. If the principal amounts are modified, the Issuer will seek to modify the maturity schedule, or make other mutually agreeable changes, in a way that will neither increase nor reduce the Successful Bidder's spread as a percentage of the principal amount of the Bonds issued, after taking into account such adjustments.

# **Book-Entry-Only System**

The Bonds shall be registered under a book-entry-only system administered through DTC.

# **Paying Agent and Bond Registrar**

Treasurer of the State of Kansas, Topeka, Kansas.

# **Good Faith Deposit**

Each bid shall be accompanied by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States of America or a wire transfer in Federal Reserve funds immediately available for use by the Issuer in the amount of \$420,900 for the Bonds.

# Delivery

The Issuer will pay for preparation of the Bonds and will deliver the same properly prepared, executed, and registered without cost to the successful bidder on or about September 14, 2021, to DTC for the account of the successful bidder.

# **Assessed Valuation and Indebtedness**

The total assessed valuation of the taxable tangible property within the Issuer as of 2020 is \$1,303,411,607. The total general obligation indebtedness of the Issuer as of the Dated Date, including the Bonds being sold, but excluding the Refunded Bonds to be retired with a portion of the proceeds of the Bonds being sold on the Sale Date, is \$161,122,172.

# **Approval of Bonds**

The Bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, Bond Counsel to the Issuer, whose approving legal opinion as to the validity of the Bonds will be furnished and paid for by the Issuer, printed on the Bonds, and delivered to the successful bidder as and when the Bonds are delivered.

# **Additional Information**

Additional information regarding the Bonds may be obtained from the undersigned, or from the Financial Advisor at the addresses set forth below:

(continued)

City of Topeka, Kansas Stephen Wade Interim Director of Administrative and Financial Services City Hall 215 SE 7th St. Topeka, KS 66603 785-250-9724 swade@topeka.org

Financial Advisor–Facsimile Bid and Good Faith Deposit Delivery Address

Columbia Capital Management, LLC Attn: Jeff White or Khalen Dwyer 6330 Lamar Ave., Suite 200 Overland Park, KS 66202 Fax: 913-312-8053 jwhite@columbiacapital.com 913-312-8077 kdwyer@columbiacapital.com 913-312-8068

Dated July 29, 2021.

Stephen Wade Interim Director of Administrative and Financial Services

Doc. No. 049342

# State of Kansas

# **Kansas Development Finance Authority**

# Notice of Hearing

A public hearing will be conducted at 9:00 a.m. Tuesday, August 24, 2021, in the offices of the Kansas Development Finance Authority (KDFA), 534 S. Kansas Ave., Suite 800, Topeka, on the proposal for the KDFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond, which is then typically purchased by a lender bank who then, through the KDFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The project shall be located as shown:

**Project No. 001082 Maximum Principal Amount: \$344,300.** Owner/Operator: Cole R. Renner; Description: Acquisition of 640 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes (the "Project"). The Project is being financed by the Lender for Cole R. Renner (the "Beginning Farmer") and is located at Section 17, Township 12, Range 34, Logan County, Kansas, approximately seven miles south of Monument, Kansas on County Road 350 then five miles west on Road Vista.

The bond, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

As part of ongoing efforts to limit the spread of novel coronavirus in Kansas, interested individuals may participate in the public hearing via conference call. Please call toll free number 866-620-7326 and use conference identification number 159 722 1260 followed by # to join the conference.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bond to finance the project, and all written comments previously filed with the KDFA at its offices at 534 S. Kansas Ave., Suite 800, Topeka, 66603, will be considered. Additional information regarding the project may be obtained by contacting the KDFA.

> Rebecca Floyd President

Doc. No. 049333

# State of Kansas

# **Board of Healing Arts**

#### Notice of Hearing on Proposed Administrative Regulation

A public hearing will be conducted at 1:00 p.m. Wednesday, October 6, 2021, in the board room at the Kansas State Board of Healing Arts, 800 SW Jackson, Lower Level – Suite A, Topeka, Kansas, to consider a proposed regulation related to applications for licensure pursuant to K.S.A. 48-3406.

This 60-day notice of the public hearing shall constitute a public comment period for the purpose of receiving written public comments on the regulation. All interested parties may submit comments prior to the hearing to Courtney Cyzman, General Counsel, at the Board of Healing Arts at the address above, or via email to KSBHA\_HealingArts@ks.gov. All interested parties will be given a reasonable opportunity to present their views, orally or in writing, concerning the proposed regulation during the public hearing. In order to provide all parties with an opportunity to present their views, it may be necessary to request each participant limit any oral presentations to five minutes.

Copies of the proposed regulation and the Economic Impact Statement for the proposed regulation may be obtained from the Kansas State Board of Healing Arts, 800 SW Jackson, Lower Level – Suite A, Topeka, Kansas 66612, on the agency website at http://www.ksbha.org/ publicinformation/publicinformation.shtml, by contacting LeeAnn Hunter-Roach at 785-296-4502, or by emailing the agency at KSBHA\_HealingArts@ks.gov.

Any individual with a disability may request accommodation in order to participate in the public hearing and may request the proposed regulation being considered and the economic impact statement in an accessible format. Requests for accommodation to participate in the hearing should be made at least five working days in advance of the hearing by contacting Sheila Rice at 785-2968558 or at Sheila.Rice@ks.gov. Individuals with hearing and/or speech disabilities may contact the Kansas Relay Center at 800-766-3777 for communication accommodations. Handicapped parking is located on 8th Street and in the building's parking garage. From the street, both the west entrance to the building on Jackson Street and the north entrance on 8th Street are accessible.

A summary of the proposed regulation and the economic impact follows:

# K.A.R. 100-6-7 (Application for licensure pursuant to K.S.A. 48-3406.)

This proposed regulation enumerates the application requirements for applicants who qualify for licensure pursuant to 2021 HB 2066, and amendments thereto.

The proposed regulation is a measure taken by the agency to minimize the cost and impact of the regulation on business and economic development by only enumerating requirements that are necessary, while maintaining a high standard of public protection.

This proposed regulation was first discussed in an open Board Meeting of which members of the public, businesses, and stakeholders could attend. The agency has also been in continual communication with state associations, stakeholders, and others regarding our application requirements to be sure we are requiring what is statutorily mandated and what will protect the public, while not including any unnecessary and ineffective requirements. Further, it should be noted that the Board of Healing Arts is comprised of medical practitioners, business owners, and members of the public. The Board of Healing Arts intends to comply with all public hearing requirements involved in the regulation promulgation process.

Although the agency does not employ an economist, the lay opinion of the agency staff is that the economic effect on the affected businesses and business sector would be positive.

Ålthough applicants who qualify for licensure pursuant to 2021 HB 2066 are the only parties that would be directly affected, businesses that employ the healthcare professions licensed and regulated by the Kansas Board of Healing Arts would be indirectly affected.

(See economic impact statement approved by the Department of Budget.)

Tucker Poling Executive Director

Doc. No. 049334

# State of Kansas

# **Department of Revenue**

#### **Permanent Administrative Regulation**

#### Article 51.—TITLES AND REGISTRATION

**92-51-34a.** License plates; new issuance. During calendar year 2021 and thereafter, one decal shall be furnished for the license plate issued for each new registration of a vehicle, pursuant to K.S.A. 8-132 and 8-134 and amendments thereto, and for each renewal registration of a vehicle. New license plates shall be issued during calendar year 2022 and during every fifth calendar year

after 2022, for each new registration of a vehicle and for each renewal registration of a vehicle. (Authorized by and implementing K.S.A. 2020 Supp. 8-132; effective Jan. 23, 2004; amended April 22, 2005; amended Nov. 13, 2017; amended Aug. 20, 2021.)

> Mark A. Burghart Secretary

Doc. No. 049341

#### State of Kansas

# Kansas Lottery

#### **Temporary Administrative Regulations**

#### Article 4.—INSTANT GAMES AND DRAWINGS

**111-4-3547. 2021** Kansas State Fair second-chance drawing. (a) The Kansas lottery may conduct a second-chance drawing in conjunction with the Kansas State Fair event giving away five \$500 cash prizes. The drawing will be on September 23, 2021, and the winners will be announced on September 24, 2021.

(b) To enter the drawing, a player shall purchase \$20 of any Kansas lottery ticket(s) in a single purchase at the Kansas lottery's selling location at the Kansas State Fair. A player may purchase lottery products during the hours the Kansas lottery selling location at the Kansas State Fair is open each day to the public beginning September 10, 2021, through September 19, 2021. For each qualifying purchase, the player will be given an official entry form by the representative selling the ticket(s). A player shall complete the entry form in a legible manner and deposit the entry form into a receptacle(s) designated for the purpose of this drawing no later than 2:00 p.m. on September 19, 2021. Only one name shall appear on an eligible entry.

(c) After the close of entries, the entry forms shall be transported by Kansas lottery security officials, or security designee as appointed by the security person on duty, in a sealed container from the selling location at the Kansas State Fair to Kansas lottery headquarters and secured until the drawing occurs.

(d) On the designated date, the drawing shall be conducted by a drawing official designated by the executive director of the Kansas lottery in accordance with the Kansas lottery's established drawing procedures.

Five entries shall be drawn. The person whose name appears on each valid entry drawn shall be the winner of a prize described in these rules. After five entries have been drawn and verified as valid, five more valid entries will be drawn, one at a time, which entries drawn will serve as alternate entries. The alternate entries will be marked in the order drawn, 1A, 2A, 3A, 4A, and 5A.

Each person who is selected as a prize winner in the drawing described above, will be sent an email with an electronic claim form attached, followed by the same documentation sent by U.S. mail. That winner must return his or her completed claim form, electronically, by U.S. mail, or hand-delivered to the Kansas lottery claims center, and the claim form must be received by the Kansas lottery within 14 days following the date the winners are announced. If the prize winner cannot be located, is *(continued)* 

declared ineligible, or fails to return the completed claim form in the allotted time, the prize will be awarded to an alternate winner. In the event an alternate winner is awarded a prize, that alternate winner must return his or her completed claim form, electronically, by U.S. mail, or hand-delivered, and the claim form must be received by the Kansas lottery within 14 calendar days following the date the alternate winner was sent a claim form electronically or by U.S. mail or another alternate will be selected until all alternates are exhausted. The Kansas lottery is not responsible for electronic malfunction or player error.

(e) There is no limit on the number of entries a person may make, but a person may only win one \$500 prize.

(f) Eligible entrants in the 2021 Kansas State Fair second-chance drawing must be 18 years of age or older.

(g) The Kansas lottery shall not be responsible for any lost, destroyed, mutilated, illegible, or altered entries into the Kansas State Fair drawing. Illegible or incomplete entries shall be discarded.

(h) Rules applicable to this drawing are contained in K.A.R. 111-4-3547, K.A.R. 111-3-1 *et seq.*, and K.A.R. 111-6-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-11-16-18, Aug. 8, 2018; amended, T-111-6-19-19, May 22, 2019; amended, T-111-7-22-21, July 14, 2021.)

**111-4-3671.** "Kansas City Chiefs" instant ticket lottery game number 290. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Kansas City Chiefs." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3671.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
20	TWNTY
21	TWONE
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV

28	TWEGT	
29	TWNIN	
30	THRTY	
31	THONE	
32	THTWO	
33	THTHR	
34	THFOR	
35	THFIV	
36	THSIX	
37	THSEV	
38	THEGT	
39	THNIN	
40	FORTY	
41	FRONE	
42	FRTWO	
43	FRTHR	
44	FRFOR	
45	FRFIV	
46	FRSIX	
47	FRSEV	
48	FREGT	
49	FRNIN	
50	FIFTY	
2X (outlined)	WIN2X	
Prize Symbols	Captions	
FREE	\$5TICKET	
¢5.00	FIVE¢	

FREE	\$5TICKET
\$5 <sup>.00</sup>	FIVE\$
<b>\$10</b> <sup>.00</sup>	TEN\$
\$15 <sup>.00</sup>	FIFTN\$
<b>\$20</b> <sup>.00</sup>	TWENTY
\$40.00	FORTY
\$50 <sup>.00</sup>	FIFTY
\$100	HUNDRED
\$500	FIV-HUN
\$25,000	TWNFVTHO

(c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Kansas City Chiefs" is a key number match game with an instant reveal and multiplier feature. The player will scratch the play area to reveal five "WINNING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "2X" symbol, the player wins two times the prize amount shown below the "2X" symbol.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order. (i) The expected number and value of instant prizes in this game shall be as follows:

0		M7:	
Prize Description	Prize	Winners Per 750,000	Prize Cost
Free \$5 Ticket	Free Ticket	25,000	\$0
\$5	\$5	25,000 75,000	\$375,000
\$5 \$10	\$10	12,500	\$375,000 \$125,000
\$5 x 2	\$10 \$10	12,500	\$125,000 \$125,000
\$5 (Dblr)	\$10 \$10	37,500	\$125,000
\$15	\$10 \$15	5,000	\$373,000 \$75,000
\$5 + \$10	\$15 \$15	5,000	\$75,000 \$75,000
\$5 x 3	\$15 \$15	5,000	\$75,000 \$75,000
	\$15 \$15	10,000	\$75,000 \$150,000
\$5 (Dblr) + \$5 \$20		500	
	\$20 \$20		\$10,000
\$10 x 2	\$20 \$20	1,000	\$20,000 \$40,000
5x4	\$20 \$20	2,000	\$40,000 \$00,000
\$10 (Dblr)	\$20 \$20	4,500	\$90,000 \$40,000
$(\$5 \times 2) + \$10$		2,000	\$40,000
\$40	\$40 \$40	500	\$20,000
\$20 x 2	\$40 \$40	500	\$20,000
$(\$15 \times 2) + \$10$	\$40 \$40	500	\$20,000
(\$10 x 3) + (\$5 x 2)	\$40	1,250	\$50,000
\$15 (Dblr) + \$10	\$40	1,500	\$60,000
(\$10 x 3) + \$5 (Dblr)	\$40	2,000	\$80,000
\$50	\$50	750	\$37,500
\$20 (Dblr) + \$10	\$50	3,000	\$150,000
\$100	\$100	125	\$12,500
\$20 x 5	\$100	125	\$12,500
(\$5 x 10) + (\$10 x 5)	\$100	250	\$25,000
\$50 (Dblr)	\$100	500	\$50,000
\$20 (Dblr) + \$10 + \$50	\$100	750	\$75,000
\$20 (Dblr) + (\$10 x 6)	\$100	750	\$75,000
\$500	\$500	5	\$2,500
\$50 (Dblr) x 5	\$500	15	\$7,500
(\$100 (Dblr) x 2) + (\$10 x 10)	\$500	15	\$7,500
(\$20 x 15) + (\$40 x 5)	\$500	15	\$7,500
\$25,000	\$25,000	4	\$100,000
PLAYER LOYALTY PROGRA	М		\$24,800
2ND CHANCE PRIZES			\$78,523
TOTAL PRIZES		210,054	\$2,490,823

(j) The odds of winning a prize in this game are approximately one in 3.57. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-7-22-21, July 14, 2021.)

**111-4-3672.** "Hot 5'S" instant ticket lottery game number 319. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Hot 5'S." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3672.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
2	TWO
3	THREE
4	FOUR
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN
11	ELEVN

12	TWELV
13	THRTN
14	FORTN
16	SIXTN
17	SEVTN
18	EGHTN
19	NINTN
20	TWNTY
5 (outlined)	WIN
HOT (outlined)	WINALL
Prize Symbols	Captions
FREE	\$1TICKET
FREE \$1 <sup>.00</sup>	\$1TICKET ONE\$
	4 -
\$1.00	ONE\$
\$1 <sup>.00</sup> \$2 <sup>.00</sup>	ONE\$ TWO\$
\$1 <sup>.00</sup> \$2 <sup>.00</sup> \$5 <sup>.00</sup>	ONE\$ TWO\$ FIVE\$
\$1 <sup>.00</sup> \$2 <sup>.00</sup> \$5 <sup>.00</sup> \$10 <sup>.00</sup>	ONE\$ TWO\$ FIVE\$ TEN\$
\$1.00 \$2.00 \$5.00 \$10.00 \$20.00	ONE\$ TWO\$ FIVE\$ TEN\$ TWENTY
\$1.00 \$2.00 \$5.00 \$10.00 \$20.00 \$40.00	ONE\$ TWO\$ FIVE\$ TEN\$ TWENTY FORTY
\$1.00 \$2.00 \$5.00 \$10.00 \$20.00 \$40.00 \$100	ONE\$ TWO\$ FIVE\$ TEN\$ TWENTY FORTY HUNDRED

(c) For this game, a play/prize symbol shall appear in 10 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) "Hot 5'S" is an instant symbol reveal game. The player will scratch the play area to reveal five play symbols with a prize amount below each symbol. If the player reveals a "5" symbol, the player wins the prize amount shown below that symbol. If a player reveals a "HOT" symbol, the player wins all prize amounts.

(g) Each ticket in this game may win up to 5 times.

(h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 120,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Winners Per	
Prize Description	Prize	1,800,000	Prize Cost
\$1 FREE TICKET	Ticket	180,000	\$0
\$1	\$1	132,000	\$132,000
\$2	\$2	6,000	\$12,000
\$1 x 2	\$2	36,000	\$72,000
\$5	\$5	1,500	\$7,500
\$1 x 5 (HOT)	\$5	30,000	\$150,000
(\$2 x 2) + \$1	\$5	4,500	\$22,500
\$10	\$10	1,500	\$15,000
\$2 x 5 (HOT)	\$10	12,000	\$120,000
\$2 x 5	\$10	4,500	\$45,000
\$20	\$20	300	\$6,000
\$10 + (\$2 x 2) + \$5 + \$1 (HOT)	\$20	3,750	\$75,000
\$5 x 4	\$20	1,950	\$39,000
\$40	\$40	75	\$3,000
			(continued)

(commune)

(\$5 x 2) + (\$10 x 3) (HOT) (\$5 x 2) + (\$10 x 3) \$100 \$20 x 5 (\$40 x 2) + (\$5 x 2) + \$10 (HOT) \$200 \$40 x 5 (HOT) \$2,000 PLAYER LOYALTY PROGRAM	\$40 \$40 \$100 \$100 \$100 \$200 \$200 \$2,000	2,250 675 75 225 450 75 150 16	\$90,000 \$27,000 \$7,500 \$45,000 \$15,000 \$30,000 \$32,000 \$9,700
\$2,000 PLAYER LOYALTY PROGRAM TOTAL PRIZES	\$2,000	16 417,991	\$32,000 \$9,700 \$977,700

(j) The odds of winning a prize in this game are approximately one in 4.31. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-7-22-21, July 14, 2021.)

**111-4-3673.** "The Perfect Gift" instant ticket lottery game number 300. (a) The Kansas lottery may conduct an instant winner lottery game entitled "The Perfect Gift." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3673.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Captions
THR
FOR
SIX
SEV
EGT
NIN
ELVN
TWLV
THRN
FRTN
FIFTN
SIXTN
SEVTN
EGTN
NINTN
WIN

Symbol of a bow

Prize Symbols	Captions
FREE	TICKET
$$1^{.00}$	ONE\$
<b>\$2</b> <sup>.00</sup>	TWO\$
\$5.00	FIVE\$
10 <sup>.00</sup>	TEN\$
20.00	TWENTY
50.00	FIFTY
\$100	ONE-HUN
\$1000	ONETHOU

(c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) "The Perfect Gift" is a key number match game with an instant win. The player will scratch the play area to reveal one "WINNING NUMBER" and five "YOUR NUM- BERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to the "WINNING NUMBER," the player wins the prize shown below that number. If a player reveals a symbol of a bow, the player wins the prize amount shown below the symbol.

(g) Each ticket in this game may win up to 5 times.

(h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Winners Per	
	Amount	1,800,000	Prize Cost
FREE	FREE	120,000	\$0
\$1	\$1	240,000	\$240,000
\$2	\$2	153,000	\$306,000
\$5	\$5	12,600	\$63,000
\$1 + (\$2 x 2)	\$5	13,800	\$69,000
\$1 x 5	\$5	13,800	\$69,000
\$10	\$10	1,920	\$19,200
(\$2 x 2) + \$5 + \$1	\$10	2,100	\$21,000
\$2 x 5	\$10	2,400	\$24,000
\$5 x 2	\$10	2,400	\$24,000
\$20	\$20	900	\$18,000
\$5 x 4	\$20	900	\$18,000
\$10 x 2	\$20	900	\$18,000
(\$5 x 2) + \$10	\$20	900	\$18,000
\$50	\$50	240	\$12,000
\$10 x 5	\$50	240	\$12,000
(\$20 x 2) + \$10	\$50	240	\$12,000
\$100	\$100	150	\$15,000
\$50 x 2	\$100	120	\$12,000
\$1,000	\$1,000	60	\$60,000
2nd chance drawing	\$1,000		\$1,000
Players Loyalty Program	\$10,415		\$10,415
TOTAL		566,670	\$1,041,615

(j) The odds of winning a prize in this game are approximately one in 3.18. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-7-22-21, July 14, 2021.)

**111-4-3674.** "The Perfect Gift" instant ticket lottery game number 301. (a) The Kansas lottery may conduct an instant winner lottery game entitled "The Perfect Gift." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3674.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN

Kansas Register

16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
Symbol of a bow	WIN
2X	DOUBLE
Prize Symbols	Captions
FREE	TICKET
<b>\$2</b> <sup>.00</sup>	TWO\$
\$4 <sup>.00</sup>	FOUR\$
\$5 <sup>.00</sup>	FIVE\$
10.00	TEN\$
20.00	TWENTY
50.00	FIFTY
\$200	TWO-HUN
\$500	FIVE-HUN
\$10000	10-THOU

(c) For this game, a play/prize symbol shall appear in 33 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) "The Perfect Gift" is a key number match game with an instant win and a multiplier feature. The player will scratch the play area to reveal three "WINNING NUM-BERS" and 15 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS" If a player matches any of the "YOUR NUMBERS" to any of the "WIN-NING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a bow, the player wins the prize amount shown below that symbol. If a player reveals a symbol of a 2X, the player wins double the prize amount shown below that symbol.

(g) Each ticket in this game may win up to 15 times.

(h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Winners Per	
	Prize	1,200,000	Prize Cost
FREE	FREE TICKET	160,000	\$0
\$2	\$2	96,000	\$192,000
\$4	\$4	20,000	\$80,000
\$2 (2X)	\$4	28,000	\$112,000
\$5	\$5	33,400	\$167,000
\$10	\$10	4,800	\$48,000
\$5 (2X)	\$10	6,720	\$67,200
\$2 x 5	\$10	4,800	\$48,000
\$4 (2X) + \$2	\$10	6,720	\$67,200
\$20	\$20	2,400	\$48,000
\$10 (2X)	\$20	3,200	\$64,000
\$2 x 10	\$20	2,200	\$44,000
\$4 x 5	\$20	2,200	\$44,000
\$50	\$50	800	\$40,000
(\$4 x 10) + (\$2 x 5)	\$50	960	\$48,000
\$20 (2X) + \$10	\$50	1,200	\$60,000
\$10 x 5	\$50	880	\$44,000
\$200	\$200	56	\$11,200
\$50 x 4	\$200	64	\$12,800
\$50 (2X) + (\$20 x 5)	\$200	80	\$16,000
(\$20 x 6) + (\$10 x 7) +			
(\$5 x 2)	\$200	80	\$16,000
\$500	\$500	16	\$8,000
$200(2X) + (50 \times 2)$	\$500	32	\$16,000
\$10,000	\$10,000	8	\$80,000
Players Loyalty Program	\$13,519		\$13,519
2nd Chance Drawing	\$5,000		\$5,000
	SUB-TOTAL	374,616	\$1,351,919.00

(j) The odds of winning a prize in this game are approximately one in 3.20. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-7-22-21, July 14, 2021.)

**111-4-3675.** "The Perfect Gift" instant ticket lottery game number 302. (a) The Kansas lottery may conduct an instant winner lottery game entitled "The Perfect Gift." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3675.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
03	THR
04	FOR
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
	(continued)

23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
Symbol of a bow	WIN
2X	DOUBLE
5X	5TIMES
Prize Symbols	Captions
FREE	TICKET
\$5.00	FIVE\$
10.00	TEN\$
15.00	FIFTEEN
25.00	TWEN-FIV
50 <sup>.00</sup>	FIFTY
75 <sup>.00</sup>	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
	-

(c) For this game, a play/prize symbol shall appear in 46 play spots within the play area or areas.

25-THOU

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "The Perfect Gift" is a key number match game with an instant win and multiplier features. The player will scratch the play area to reveal six "WINNING NUM-BERS" and 20 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WIN-NING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a bow, the player wins the prize amount shown below that symbol. If a player reveals a symbol of a 2X, the player wins double the prize amount shown below that symbol. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown below that symbol.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 750,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	v	Vinners Per	r
	Prize	750,000	Prize Cost
FREE TICKET	FREE TICKET	50,000	\$0
\$5	\$5	87500	\$437,500
\$10	\$10	19000	\$190,000
\$5 (2X)	\$10	21200	\$212,000
\$5 + \$5	\$10	19000	\$190,000
\$15	\$15	13000	\$195,000
\$5 + \$10	\$15	13000	\$195,000
\$5 (2X) + \$5	\$15	13000	\$195,000
\$25	\$25	2500	\$62,500
\$10 (2X) + \$5	\$25	2500	\$62,500
\$5 (5X)	\$25	2500	\$62,500
\$5 x 5	\$25	2500	\$62,500
\$50	\$50	650	\$32,500
\$10 (5X)	\$50	650	\$32,500
\$5 x 10	\$50	650	\$32,500
\$10 (2X) + \$25 + \$5	\$50	650	\$32,500
\$75	\$75	350	\$26,250
\$5 x 15	\$75	350	\$26,250
10 + 15 + 5 (5X) + (5x 5)	\$75	300	\$22,500
(\$5 x 10) + \$5 (2X) + \$15	\$75	300	\$22,500
\$100	\$100	125	\$12,500
\$5 x 20	\$100	125	\$12,500
\$50 (2X)	\$100	180	\$18,000
\$15 (5X) + \$15 + \$10	\$100	185	\$18,500
\$500	\$500	25	\$12,500
\$50 (5X) + (\$25 x 10)	\$500	25	\$12,500
\$100 (2X) + 50 x 6	\$500	25	\$12,500
(\$10 x 5) + (\$5 x 10) +			
(\$50 x 2) + (\$100 x 3)	\$500	30	\$15,000
\$1,000	\$1,000	15	\$15,000
\$500 x 2	\$1,000	15	\$15,000
\$100 (5X) + (\$100 x 5)	\$1,000	10	\$10,000
\$100 x 10	\$1,000	10	\$10,000
\$25,000	\$25,000	5	\$125,000
Players Loyalty Program	\$24,125		\$24,125
2nd Chance Draw	\$10,000		\$10,000
	TOTAL	250,375	\$2,415,125

(j) The odds of winning a prize in this game are approximately one in 3.00. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and 74-8720; effective, T-111-7-22-21, July 14, 2021.)

**111-4-3676.** "The Perfect Gift" instant ticket lottery game number 303. (a) The Kansas lottery may conduct an instant winner lottery game entitled "The Perfect Gift." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3676.

(b) The "play and prize symbols" and "captions" for this game are as follows:

\$25000

Play Symbols	Captions
06	SIX
07	SEV
08	EGT
09	NIN
11	ELVN
12	TWLV
13	THRN
14	FRTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
51	FTYONE
52	FTYTWO
53	FTYTHR
54	FTYFOR
55	FTYFIV
56	FTYSIX
57	FTYSEV
58	FTYEGT
59	FTYNIN
60	SIXTY
Symbol of a bow	WIN
2X	DOUBLE
5X	5TIMES
10X	10TIMES

Prize Symbols	Captions
FREE	TICKET
$10^{.00}$	TEN\$
15.00	FIFTEEN
20.00	TWENTY
25.00	TWEN-FIV
50.00	FIFTY
75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$75000	75-THOU

(c) For this game, a play/prize symbol shall appear in 58 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.

(e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.

(f) "The Perfect Gift" is a key number match game with an instant win and multiplier features. The player will scratch the play area to reveal eight "WINNING NUM-BERS" and 25 "YOUR NUMBERS" with a prize amount below each of the "YOUR NUMBERS." If a player matches any of the "YOUR NUMBERS" to any of the "WIN-NING NUMBERS," the player wins the prize shown below that number. If a player reveals a symbol of a bow, the player wins the prize amount shown below that symbol. If a player reveals a symbol of a 2X, the player wins double the prize amount shown below that symbol. If a player reveals a symbol of a 5X, the player wins five times the prize amount shown below that symbol. If a player reveals a symbol of a 10X, the player wins 10 times the prize amount shown below that symbol.

(g) Each ticket in this game may win up to 25 times.

(h) Approximately 400,020 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 200,010 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	V	Vinners Per	
	Prize	400,020	Prize Cost
Free Ticket	Free Ticket	50,000	\$0
\$10	\$10	38,000	\$380,000
\$15	\$15	23,000	\$345,000
\$20	\$20	5,200	\$104,000
10 (2X)	\$20	5,600	\$112,000
\$10 + \$10	\$20	5,200	\$104,000
\$25	\$25	6,200	\$155,000
\$10 + \$15	\$25	6,200	\$155,000
\$50	\$50	1,600	\$80,000
\$15 (2X) + (\$10 x 2)	\$50	1,740	\$87,000
\$10 (5X)	\$50	1,740	\$87,000
\$10 x 5	\$50	1,600	\$80,000
\$75	\$75	420	\$31,500
\$15 (5X)	\$75	540	\$40,500
(\$10 x 5) + \$25	\$75	454	\$34,050
\$25 (2X) + \$15 + \$10	\$75	520	\$39,000
			(continued)

# Kansas Register

(\$10 x 6) + \$15	\$75	400	\$30,000
\$100	\$100	300	\$30,000
\$10 (10X)	\$100	400	\$40,000
(\$15 x 4) + (\$10 x 2) + \$10 (2X)	\$100	400	\$40,000
\$20 (5X)	\$100	400	\$40,000
\$10 x 10	\$100	300	\$30,000
\$500	\$500	40	\$20,000
\$20 (10X) + (\$10 x 20) + (\$25 x 4)	\$500	44	\$22,000
\$50 (10X)	\$500	44	\$22,000
$100(2X) + (20 \times 10) + (25 \times 4)$	\$500	44	\$22,000
$25(5X) + (25 \times 3) + (100 \times 3)$	\$500	44	\$22,000
\$1000	\$1,000	6	\$6,000
(\$75 x 3) + \$500 + (\$25 x 7) +			
(\$20 x 5)	\$1,000	6	\$6,000
\$500 x 2	\$1,000	10	\$10,000
\$100 (10X)	\$1,000	6	\$6,000
\$75,000	\$75,000	4	\$300,000
Players Loyalty Program	\$25,200		\$25,200
2nd Chance Drawing	\$15,000		\$15,000
	TOTAL	150,462	\$2,520,250

(j) The odds of winning a prize in this gam proximately one in 2.66. (Authorized by K.S.A implementing K.S.A. 74-8710 and 74-8720; T-111-7-22-21, July 14, 2021.)

111-4-3677. "Hit The Jackpot" instant tick game number 325. (a) The Kansas lottery may an instant winner lottery game entitled "Hit pot." The rules for this game are contained in K 3-1 et seq. and 111-4-3677.

(b) The "play and prize symbols" and "cap this game are as follows:

Game 1:

**Play Symbols** 

Symbol of a rainbow

Symbol of poker chips

Symbol of a necklace

Symbol of a basket

Symbol of an umbrella

Symbol of a bow

Symbol of a seashell

Symbol of a cupcake

Symbol of a moneybag

Symbol of a snail

**Prize Symbols** 

 $$10^{.00}$ 

\$20.00

 $$40^{.00}$ 

\$50.00

\$100

\$200

**Play Symbols** 

Symbol of a star Symbol of a horseshoe

Symbol of a fortune cookie

1232

400	\$30,000	Symbol of a stack of coins	COINS
300	\$30,000	Symbol of a joker	JOKER
400	\$40,000	Symbol of a key	KEY
400 400	\$40,000 \$40,000	Symbol of a 7	SEVN
300	\$40,000 \$30,000	Symbol of a bell	BELL
40	\$20,000 \$20,000	Symbol of cherries	CHRY
44	\$22,000	-	BONE
44	\$22,000	Symbol of a wishbone	
44	\$22,000	Symbol of a crown	CROWN
44	\$22,000	Symbol of a heart	HEART
6	\$6,000	Symbol of a diamond	DIMND
6	\$6,000	Symbol of a slot machine bar	BAR
10	\$10,000	Symbol of a plum	PLUM
6	\$6,000	Symbol of a lemon	LEMN
4	\$300,000	Symbol of a banana	BNNA
	\$25,200	Symbol of a slice of watermelon	MELN
	\$15,000	Symbol of an apple	APPL
150,462 \$2	2,520,250	Symbol of grapes	GRPE
in this game a	are ap-	Symbol of a piggy bank	PBNK
ed by K.S.A. 7		Symbol of a ring	RING
l 74-8720; ef		Symbol of a safe	SAFE
,	,	-	DOUBLE
instant ticket	lottory	Symbol of two dollar signs	DOUDLE
lottery may c			
titled "Hit Th		Prize Symbols	Captions
tained in K.A.		<b>\$10</b> <sup>.00</sup>	TEN\$
		<b>\$20</b> <sup>.00</sup>	TWENTY
" and "caption	ns" for	$$40^{.00}$	FORTY
		\$50.00	FIFTY
		\$100	ONEHUN
		\$200	TWOHUN
Captions			
RBOW		GAME 3:	
CHIPS		Play Symbols	Captions
NKLACE		1	ONE
BASKET		2	TWO
UMBRLA		3	THREE
BOW		4	FOUR
SHELL		5	FIVE
CAKE		6	SIX
MNYBAG		7	
SNAIL			SEVEN
er ti iii		8	EIGHT
Captions		9	NINE
-		10	TEN
TEN\$		11	ELVN
TWENTY		12	TWLV
FORTY		Symbol of a dollar bill	\$WIN\$
FIFTY			
ONEHUN		Prize Symbols	Captions
TWOHUN		<b>\$10</b> <sup>.00</sup>	TEN\$
		<b>\$20</b> .00	TWENTY
		\$40.00	FORTY
Captions	i	\$50.00	FIFTY
STAR		\$100	ONEHUN
HRSHOE	l	\$200	TWOHUN
COOKIE		\$500	FIVHUN
COURT		4000	11,11010

GAME 2:

Vol. 40, No. 31, August 5, 2021

GAME 4:

ME 4:		
Play Symbol	ls	Captions
15		FIFTN
16		SIXTN
10		SVNTN
18		EGHTN
19		NINTN
20		TWNTY
21		TWYON
22		TWYTW
23		TWYTR
24		TWYFR
25		TWYFV
26		TWYSX
27		TWYSV
28		TWYET
29		TWYNI
30		THRTY
31		THYON
32		THYTW
33		THYTR
34		THYFR
35		THYFV
36		THYSX
37		THYSV
38		THYET
39		THYNI
40		FORTY
\$100 in a starbu	urst	WIN100
10X		WIN10X
Prize Symbo	ls	Captions
\$10 <sup>.00</sup>		TEN\$
\$20 <sup>.00</sup>		TWENTY
\$40 <sup>.00</sup>		FORTY
\$50 <sup>.00</sup>		FIFTY
\$100		ONEHUN
\$200		TWOHUN
\$500		FIVHUN
\$100,000		100-THOU
#Came 1//	#C arr - 0"	#C 0#
"Game 1"	"Game 2"	"Game 3"
\$10	- \$10 w/\$\$	\$10 -
-	\$10 w/\$\$ \$10	-
-	ψ10	\$20
-	-	φ <b>2</b> 0 -
\$10	\$10	\$10

(c) For this game, a play/prize symbol shall appear in 70 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 014.

(e) The price of instant tickets sold by a retailer for this game shall be \$20.00 each.

(f) The "Hit The Jackpot" features four separate play areas. GAME 1 is an instant reveal play area. The player will scratch the play area to reveal a play or prize symbol. If the player reveals a prize symbol, the player wins that amount.

GAME 2 is a slot game style symbol match play area. In the slot style game play area, there are eight "ROWS" a player will scratch to reveal play symbols and a prize amount. Each "ROW" consists of three play symbols and a prize amount. If a player reveals three identical symbols in the same "ROW", the player wins the prize amount shown for that "ROW". If a player reveals a symbol of two dollar signs, the player wins double the prize amount shown.

GAME 3 is an instant reveal play area. The player will scratch the play area to reveal six play symbols with a prize amount shown below each play symbol. If the player reveals a symbol of a dollar bill, the player wins the amount shown below the dollar bill symbol.

GAME 4 is a match game play area. The player will scratch the play area to reveal five "WINNING NUM-BERS" and 10 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If the player matches any of the "YOUR NUMBERS" to any of the "WINNING NUMBERS," the player wins the amount shown below the matching "YOUR NUMBER." If the player reveals a symbol of \$100 in a starburst, the player automatically wins \$100. If the player reveals a symbol of a 10X, the player wins 10 times the prize amount shown for that symbol.

(g) Each ticket in this game may win up to 25 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

					Winners Per	
"Game 1"	"Game 2"	"Game 3"	"Game 4"	Prize	300,000	Prize Cost
\$10	-	\$10	-	\$20	20,000	\$400,000
-	\$10 w/\$\$	-	-	\$20	10,000	\$200,000
-	\$10	-	\$10	\$20	10,000	\$200,000
-	-	\$20	-	\$20	10,000	\$200,000
-	-	-	\$20	\$20	20,000	\$400,000
\$10	\$10	\$10	\$10	\$40	10,000	\$400,000
-	-	-	\$20 x 2	\$40	5,000	\$200,000
\$20	-	\$10 x 2	-	\$40	5,000	\$200,000
-	-	-	\$40	\$40	5,000	\$200,000
-	\$10	\$40	-	\$50	2,500	\$125,000
\$20	-	\$10	\$10 x 2	\$50	2,500	\$125,000
\$10	\$20 w/\$\$	-	-	\$50	2,500	\$125,000
-	-	-	\$50	\$50	1,250	\$62,500
\$20	\$10 x 4	\$10	\$10 x 3	\$100	400	\$40,000
\$40	-	\$20	\$40	\$100	625	\$62,500
						(continued)

# Kansas Register \_

"Game 1"	"Game 2"	"Game 3"	"Game 4"	Prize	Winners Per 300,000	Prize Cost
-	\$50 w/\$\$	-	-	\$100	625	\$62,500
-	-	\$50	$($20 \times 2) + $10$	\$100	625	\$62,500
\$50	\$40	\$10	-	\$100	625	\$62,500
-	-	-	\$10 w/10X	\$100	400	\$40,000
-	-	-	\$100 BURST	\$100	400	\$40,000
-	\$100	-	-	\$100	400	\$40,000
-	\$50 w/\$\$	-	\$100 BURST	\$200	125	\$25,000
\$50	\$10 x 3	\$20	\$20 x 5	\$200	125	\$25,000
\$40	\$10 w/\$\$	\$40	\$50 x 2	\$200	125	\$25,000
-	-	-	\$100 BURST x 2	\$200	125	\$25,000
-	-	-	\$20 w/10X	\$200	125	\$25,000
-	-	\$200	-	\$200	125	\$25,000
-	-	\$40 + \$10	\$40 w/10X + (\$20 x 2) + \$10	\$500	125	\$62,500
\$100	\$20 w/\$\$ x 2	\$20	\$20 w/10X + \$100BURST	\$500	125	\$62,500
\$20	\$20 + \$10	\$50 x 3	\$100 + \$20 w/10X	\$500	125	\$62,500
\$50	\$20 x 5	-	\$200 + \$100 BURST+ \$50	\$500	125	\$62,500
-	-	-	\$50 w/10X	\$500	125	\$62,500
-	-	-	\$500	\$500	125	\$62,500
\$50	\$20 w/\$\$ x 5	\$200 + \$50	\$200 + \$100 BURST + (\$40 x 5)	\$1,000	10	\$10,000
\$40	\$40 x 8	\$40 x 6	$40 \times 10$	\$1,000	5	\$5,000
-	-	-	\$100 w/10X	\$1,000	10	\$10,000
-	-	-	\$100 BURST x 10	\$1,000	15	\$15,000
-	-	-	\$500 x 2	\$1,000	15	\$15,000
\$100	\$100 w/\$\$ x 5	\$500 + (\$100 x 4)	(\$500 x 5) + (\$100 BURST x 5)	\$5,000	3	\$15,000
\$200	\$200 x 8	\$200 x 6	\$200 x 10	\$5,000	3	\$15,000
-	\$200 w/\$\$ x 5	\$500 x 6	\$500 x 10	\$10,000	2	\$20,000
-	-	-	\$100 w/10X x 10	\$10,000	2	\$20,000
-	-	-	\$500 w/10X x 2	\$10,000	1	\$10,000
-	-	-	\$100,000	\$100,000	4	\$400,000
			Sub-Total:	:	109,420	\$4,307,500
Player Loy	alty Program					\$43,075
			Total:	:	109,420	\$4,350,575

(j) The odds of winning a prize in this game are approximately one in 2.74. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710, and 74-8720; effective, T-111-7-22-21, July 14, 2021.)

#### Article 19.—SPECIFIC PLAYER LOYALTY CLUB RULES

**111-19-110.** Kansas City Royals Big Leaguer for a Day drawing. (a) The Kansas lottery may conduct a drawing entitled "Kansas City Royals Big Leaguer for a Day" in which one Kansas lottery player will win tickets and a parking pass for the Kansas City Royals Fan Appreciation Day game at Kauffman Stadium in Kansas City, Missouri on October 2, 2021. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. on August 16, 2021. Entry deadline for the drawing will be at 11:59 p.m. on August 29, 2021. The drawing will be conducted sometime after entry into the drawing has closed but before noon on September 2, 2021, at which time the winner will be announced.

(b) Only registered Kansas Lottery PlayOn ("PlayOn") members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.

(c) A total of 685 player loyalty club points are required

for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as his or her points allow.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting the winner and alternate winners shall be followed. The Kansas lottery shall award the winner selected tickets for four people and a parking pass to the October 2, 2021 Kansas City Royals Fan Appreciation Day baseball game. Each winner will also receive: the equivalent of a major league baseball salary minimum contract for one day in the amount of \$3,166; a customized jersey from the Kansas City Royals; attendance at a press conference and autograph signing event at Kauffman Stadium; \$500 cash; and state and federal mandatory income withholding taxes paid by the Kansas lottery. The prize package is valued at approximately \$5,854.

(e) The procedures set forth in K.A.R. 111-18-5 for contacting the winner and the claiming of prizes shall be followed, except as follows: in this promotion the 10-day deadline for the winner to return their claim form shall be 10 business days and commence with the date of the announcement of the winner. The Kansas lottery is not responsible for electronic malfunction or player error.

(f) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

(g) The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.

(h) By entering the drawings, entrant agrees to PlayOn terms and conditions.

(i) Rules applicable to this online event drawing are contained in K.A.R. 111-19-110 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-7-22-21, July 14, 2021.)

**111-19-111.** The Perfect Gift Bonus Cash Promotion. (a) The Kansas lottery may conduct a "The Perfect Gift Bonus Cash" promotion drawing awarding four cash prizes. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. the day the instant tickets designated in subsection (b) are first offered for sale to the general public and ending at 11:59 p.m. on January 23, 2022. The drawing will be conducted sometime after entry into the drawing has closed but before noon on January 27, 2022, at which time the winners will be announced.

(b) The specific tickets eligible for entry into this drawing shall be non-winning tickets in the following Kansas lottery games: \$1 "The Perfect Gift" game number 300; \$2 "The Perfect Gift" game number 301; \$5 "The Perfect Gift" game number 302; and \$10 "The Perfect Gift" game number 303.

(c) A player shall enter the drawings through the PlayOn program available at www.kslottery.com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "The Perfect Gift Bonus Cash" promotion. The player may enter the required data from the entry ticket manually for entry into the drawing. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawing using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry per each dollar based on the cost of the ticket.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. The first four players selected will receive cash prizes. The first player selected will receive \$10,000, the second player selected will receive \$5,000, the third player selected will receive \$2,500 and the fourth player selected will receive \$1,000.

(e) There is no limit on the number of non-winning tickets a player may enter, but a player may only win one prize in this drawing.

(f) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except that in this promotion the 10-day deadline for the four winners to return their claim forms shall be business days and commence with the date of the announcement of the winners. The Kansas lottery is not responsible for electronic malfunction or player error.

(g) By entering the promotion, entrant agrees to PlayOn terms and conditions.

(h) Winners are responsible for state and federal income taxes.

(i) Rules applicable to this promotion are contained in K.A.R. 111-19-111 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-7-22-21, July 14, 2021.)

111-19-112. Kansas City Chiefs drawings. (a) The Kansas lottery may conduct two drawings entitled "Kansas City Chiefs Ultimate Suite Experience" and "Kansas City Chiefs 2022 Season Ticket Package." The Kansas lottery will accept entries into the drawings beginning at 12:01 a.m., the day Kansas lottery "Kansas City Chiefs" instant tickets are first offered for sale to the general public and ending at various times as stated in these rules. Entries into the "Kansas City Chiefs Ultimate Suite Experience" drawing will close at 11:59 p.m. on October 10, 2021. The drawing will be conducted sometime after entry into the drawing has closed but before noon on October 14, 2021, at which time the winners will be announced. Entries into the "Kansas City Chiefs 2022 Season Ticket Package" drawing will close at 11:59 p.m. on February 6, 2022. The drawing will be conducted sometime after entry into the drawing has closed but before noon on February 10, 2022, at which time the winners will be announced.

(b) The specific ticket eligible for entry into the drawings shall be non-winning \$5 "Kansas City Chiefs" game number 290.

(c) A player shall enter the drawing through the Kansas Lottery PlayOn program available at www.kslottery. com. The player shall follow the hyperlink specifically designated for the purpose of accessing the "Kansas City Chiefs drawings." The player may enter the required data from the entry ticket manually for entry into the drawings. If the player does not enter the ticket data manually, the player may scan, if available, the ticket to enter data to be used for entry into the drawings using a mobile device and a downloaded Kansas Lottery PlayOn app. After the ticket data is successfully entered either manually or scanned using an app, the player will receive one entry for each non-winning ticket submitted into the second-chance drawings.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting winners and alternate winners shall be followed. For the first drawing, "Kansas City Chiefs Ultimate Suite Experience," the Kansas lottery shall award 10 prize packages. Each winner will receive: two club level tickets to the December 12, 2021 Chiefs versus Raiders football game at Arrowhead Stadium in Kansas City, Missouri; parking pass; two Community America Club Level passes to include all-inclusive food and beverage, indoor/outdoor seating and private restroom; Kansas City Chiefs Cheerleader and KC Wolf appearances; \$100 Chiefs gift card that may be used at the concession stand or the merchandise stores located inside Arrowhead Stadium; postgame field photo; \$500 cash for hotel accommodations and travel expenses; and mandatory state and federal income withholding taxes paid by the Kansas lottery. Each prize package is valued at approximately \$5,634.00.

(e) For the second drawing, "Kansas City Chiefs 2022 Season Ticket Package," the Kansas lottery shall award five prize packages. Each winner will receive: two lower-level Kansas City Chiefs 2022 season tickets at Arrowhead Stadium in Kansas City, Missouri; gold season parking pass; \$100 Chiefs gift card that may be used at the concession stand or the merchandise stores located inside Arrowhead Stadium; \$500 cash; and mandatory state and federal income withholding taxes paid by the (continued) Kansas lottery. Each prize package is valued at approximately \$4,437.00.

(f) There is no limit on the number of non-winning tickets a player may enter, but a player may only win one prize package in each drawing.

(g) Any entry that is not selected in the first drawing or one that is selected as an alternate in the first drawing, but not used as a winner, shall be eligible to win a prize in the subsequent drawing for this promotion.

(h) The procedures set forth in K.A.R. 111-18-5 for contacting winners and the claiming of prizes shall be followed, except as follows: in this promotion the 10-day deadline for the winners to return their claim forms shall commence with the date of the announcement of the winners. The Kansas lottery is not responsible for electronic malfunction or player error.

(i) Each person who enters the drawings agrees to release Kansas City Chiefs Corporation, its parent and affiliated companies, the Kansas Lottery and their respective officers, directors, employees, agents, and sponsors from liability of any kind or nature for any loss, claims, damages, or injuries of any kind associated with participation in the drawings or with acceptance and use of any prize.

(j) In the event any game in the prize package awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

(k) The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.

(l) By entering the drawings, entrant agrees to PlayOn terms and conditions.

(m) A player must have a smart phone to accept Chiefs tickets and parking passes.

(n) Rules applicable to this online event drawing are contained in K.A.R. 111-19-112 and K.A.R. 111-18-1 *et seq*. (Authorized by K.S.A. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 74-8710; effective, T-111-7-22-21, July 14, 2021.)

**111-19-113.** Sporting KC Experience drawing. (a) The Kansas lottery may conduct a drawing entitled "Sporting KC Experience" in which 25 Kansas lottery players will win tickets to the Sporting KC soccer game at Children's Mercy Park on November 7, 2021. The Kansas lottery will accept entries into the drawing beginning at 12:01 a.m. on September 7, 2021. Entry deadline for the drawing will be at 11:59 p.m. on October 4, 2021. The drawing will be conducted sometime after entry into the drawing has closed but before noon on October 11, 2021, at which time the winners will be announced.

(b) Only registered Kansas Lottery PlayOn ("PlayOn") members may enter the drawing. PlayOn members must enter themselves into the drawing according to the terms and conditions of PlayOn. Entries shall not be accepted that are submitted by any method other than through PlayOn.

(c) A total of 128 player loyalty club points are required for a PlayOn member to enter once in the drawing. A player may enter the drawing as many times as his or her points allow but may only win once in the drawing.

(d) The procedures set forth in K.A.R. 111-18-5 for selecting the winners and alternate winners shall be followed. The Kansas lottery shall award the winners selected tickets for two people to the November 7, 2021 Sporting KC soccer game. Each winner will also receive \$200 cash. Each prize package is valued at approximately \$280. (e) The procedures set forth in K.A.R. 111-18-5 for contacting the winner and the claiming of prizes shall be followed, except as follows: in this promotion the 10-day deadline for the winner to return their claim form shall be 10 business days and commence with the date of the announcement of the winner. The Kansas lottery is not responsible for electronic malfunction or player error.

 $(\tilde{f})$  All winners and guests shall release the Kansas lottery from any liability for injuries sustained while redeeming any portion of the prize.

(g) In the event any prize awarded for this drawing is postponed, changed, or canceled in whole or in part, no cash prize substitutions shall be provided.

(h) The Kansas lottery retains the right to substitute an alternate prize of approximate equal value.

(i) By entering the drawing, entrant agrees to PlayOn terms and conditions.

(j) A player must have a smart phone to accept Sporting KC tickets.

(k) Rules applicable to this online event drawing are contained in K.A.R. 111-19-113 and K.A.R. 111-18-1 *et seq.* (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-7-22-21, July 14, 2021.)

# Article 501.—SOUTH CENTRAL GAMING ZONE

**111-501-151.** Hand rankings. (a) The rank of the cards used in Criss Cross Poker for the determination of winning hands, in order of highest to lowest rank, shall be: ace, king, queen, jack, 10, 9, 8, 7, 6, 5, 4, 3, and 2. An ace may be used to complete a "straight flush" or a "straight" formed with a 2, 3, 4, and 5 or a 10, jack, queen and king. An ace may not be used, however, with any other sequence of cards to form a "straight flush" or a "straight".

(b) The permissible poker hands at the game of Criss Cross Poker, in order of highest to lowest rank, are as follows:

(1) Royal flush–a hand consisting of ace, king, queen, jack, and 10 of the same suit;

(2) Straight flush–a hand consisting of five cards of the same suit in consecutive ranking except for a royal flush as defined above;

(3) Four-of-a-kind–a hand consisting of four cards of the same rank;

(4) Full house–a hand consisting of three of a kind and a pair;

(5) Flush–a hand consisting of five cards of the same suit, not in consecutive order;

(6) Straight–a hand consisting of five unsuited cards of consecutive rank;

(7) Three-of-a-kind–a hand consisting of three cards of the same rank regardless of suit;

(8) Two pair-a hand consisting of two pairs; and

(9) One pair–a hand consisting of two cards of the same rank regardless of suit. (Authorized by K.S.A. 74-8710 and 74-8748; implementing K.S.A. 74-8710; effective, T-111-12-20-19, Nov. 13, 2019; amended, T-111-7-22-21, July 14, 2021.)

Stephen W. Durrell Executive Director

Doc. No. 049340

#### INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended, and revoked administrative regulations and the volume and page number of the *Kansas Register* issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the *Kansas Administrative Regulations* and the 2020 Supplement of the *Kansas Administrative Regulations*. Regulations can also be found at http://www.sos. ks.gov/pubs/pubs\_kar.aspx.

#### AGENCY 4: DEPARTMENT OF AGRICULTURE

Reg. No.	Action	Register	
4-8-13	Amended	V. 40, p. 320	
4-8-14a	Amended	V. 40, p. 320	
4-8-27	Amended	V. 40, p. 320	
4-8-28	Amended	V. 40, p. 320	
4-8-29	Amended	V. 40, p. 320	
4-8-30	Amended	V. 40, p. 320	
4-8-31	Amended	V. 40, p. 320	
4-8-32	Amended	V. 40, p. 320	
4-8-33	Amended	V. 40, p. 320	
4-8-34	Amended	V. 40, p. 321	
4-8-35	Amended	V. 40, p. 321	
4-8-36	Amended	V. 40, p. 321	
4-8-37	Amended	V. 40, p. 321	
4-8-38	Amended	V. 40, p. 321	
4-8-39	Amended	V. 40, p. 321	
4-8-40	Amended	V. 40, p. 321	
4-8-41	Revoked	V. 40, p. 321	
4-8-42	Revoked	V. 40, p. 321	
4-8-43	Revoked	V. 40, p. 321	
4-8-44	New	V. 40, p. 321	
4-8-45	New	V. 40, p. 322	
4-8-46	New	V. 40, p. 322	
4-8-47	New	V. 40, p. 322	
4-8-48	New	V. 40, p. 322	
4-34-1	Amended	V. 40, p. 191	
4-34-22	New	V. 39, p. 1578	
4-34-23	New	V. 39, p. 1579	
4-34-24	New	V. 39, p. 1580	
4-34-25	New	V. 39, p. 1581	
4-34-26	New	V. 39, p. 1581	
4-34-27	New	V. 39, p. 1581	
4-34-28	New	V. 39, p. 1582	
4-34-29	New	V. 39, p. 1582	
4-34-30	New	V. 39, p. 1583	
AGENCY 7: SECRETARY OF STATE			

Reg. No.	Action	Register
7-48-1	New	V. 40, p. 263

#### AGENCY 9: DEPARTMENT OF AGRICULTURE – DIVISION OF ANIMAL HEALTH

Reg. No.	Action	Register
9-2-35	New	V. 39, p. 1358
9-3-9	Amended	V. 39, p. 1359

#### AGENCY 10: KANSAS BUREAU OF INVESTIGATION

Reg. No.	Action	Register
10-24-1	New (T)	V. 39, p. 732
10-24-1	New	V. 39, p. 1074
10-24-2	New (T)	V. 39, p. 732
10-24-2	New	V.39, p. 1074

# Kansas Register

10-24-3 10-24-3	New (T) New	V. 39, p. 732 V. 39, p. 1075	
AGENCY 11: DEPARTMENT OF AGRICULTURE—DIVISION OF CONSERVATION			
<b>Reg. No.</b> 11-9-5	Action Amended	<b>Register</b> V. 40, p. 427	
	16: ATTORNEY		
Reg. No.	Action	Register	
16-14-1	Amended	V. 39, p. 1155	
16-14-10	Amended	V. 39, p. 1155	
16-14-11 16-19-1	Amended New	V. 39, p. 1155 V. 39, p. 208	
16-19-2	New	V. 39, p. 208	
16-19-3	New New (T)	V. 39, p. 208	
16-20-1 16-20-1	New (T) New	V. 39, p. 462 V. 39, p. 1075	
	CY 17: OFFICE ( ANK COMMIS		
<b>Reg. No.</b> 17-23-9	Action Revoked	<b>Register</b> V. 39, p. 146	
	Y 21: HUMAN I COMMISSION		
Reg. No.	Action	Register	
21-40-10	Revoked	V. 40, p. 265	
21-41-1 21-41-2	Revoked Amended	V. 40, p. 265 V. 40, p. 265	
21-41-3	Amended	V. 40, p. 265	
21-41-4 21-41-6	Revoked Amended	V. 40, p. 265 V. 40, p. 265	
21-41-8	Amended	V. 40, p. 265 V. 40, p. 265	
21-41-10	Amended Revoked	V. 40, p. 265	
21-41-11 Revoked V. 40, p. 265			
	2. STATEFIRE	MARSHAL	
	2: STATE FIRE		
AGENCY 2 Reg. No. 22-26-1	2: STATE FIRE Action New (T)	<b>Register</b> V. 40, p. 1034	
<b>Reg. No.</b> 22-26-1 22-26-2	<b>Action</b> New (T) New (T)	<b>Register</b> V. 40, p. 1034 V. 40, p. 1035	
<b>Reg. No.</b> 22-26-1	Action New (T) New (T) New (T)	<b>Register</b> V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035	
<b>Reg. No.</b> 22-26-1 22-26-2 22-26-3 22-26-3 22-26-4 22-26-5	Action New (T) New (T) New (T) New (T)	<b>Register</b> V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037	
<b>Reg. No.</b> 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6	Action New (T) New (T) New (T) New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037 V. 40, p. 1037	
<b>Reg. No.</b> 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-5 22-26-6 22-26-7 22-26-8	Action New (T) New (T) New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037	
<b>Reg. No.</b> 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-9	Action New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037 V. 40, p. 1038	
<b>Reg. No.</b> 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-9 22-26-10	Action New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1038 V. 40, p. 1038	
<b>Reg. No.</b> 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-9 22-26-9 22-26-10 22-26-11 22-26-12	Action New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038	
<b>Reg. No.</b> 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-9 22-26-9 22-26-10 22-26-11 22-26-12 22-26-13	Action New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1039 V. 40, p. 1039	
<b>Reg. No.</b> 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-9 22-26-9 22-26-10 22-26-11 22-26-12	Action New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038	
<b>Reg. No.</b> 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-9 22-26-9 22-26-10 22-26-10 22-26-11 22-26-12 22-26-13 22-26-14 22-26-15 22-26-16	Action New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1039 V. 40, p. 1039 V. 40, p. 1039 V. 40, p. 1040 V. 40, p. 1040	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-9 22-26-10 22-26-11 22-26-12 22-26-13 22-26-13 22-26-14 22-26-15 22-26-16 AGENCY AGING AN	Action New (T) New (T) Yew (T) New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1036 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1037 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1039 V. 40, p. 1039 V. 40, p. 1039 V. 40, p. 1040 V. 40, p. 1040 V. 40, p. 1040 <b>ENT FOR</b> <b>(SERVICES</b>	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-9 22-26-9 22-26-10 22-26-11 22-26-12 22-26-13 22-26-14 22-26-15 22-26-16 AGENCY AGING AN Reg. No.	Action New (T) New (T)	Register           V. 40, p. 1034           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1036           V. 40, p. 1037           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1040           V. 40, p. 1040           V. 40, p. 1040           V. 40, p. 1040           K. 40, p. 1040           K. 40, p. 1040	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-7 22-26-10 22-26-10 22-26-10 22-26-11 22-26-12 22-26-13 22-26-14 22-26-15 22-26-16 AGENCY AGING AN Reg. No. 26-38-1	Action New (T) New (T) Yew (T) New (T) New (T)	Register           V. 40, p. 1034           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1036           V. 40, p. 1037           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1040	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-7 22-26-10 22-26-10 22-26-10 22-26-11 22-26-12 22-26-13 22-26-13 22-26-14 22-26-15 22-26-16 AGENCY AGING AN Reg. No. 26-38-1 26-38-2 26-38-3	Action New (T) New (T)	Register           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1037           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1039           V. 40, p. 1040           V. 40, p. 1050           X. 40, p. 1155           V. 39, p. 1155           V. 39, p. 1156           V. 39, p. 1157	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-7 22-26-10 22-26-10 22-26-11 22-26-12 22-26-13 22-26-13 22-26-14 22-26-15 22-26-16 AGENCY AGING AN Reg. No. 26-38-1 26-38-2 26-38-3 26-38-4	Action New (T) New (T) Y 26: DEPARTM DISABILITY Action New New New New	Register           V. 40, p. 1034           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1036           V. 40, p. 1037           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1039           V. 40, p. 1040           V. 40, p. 1050           ENT FOR           CSERVICES           Register           V. 39, p. 1155           V. 39, p. 1157           V. 39, p. 1157	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-7 22-26-9 22-26-10 22-26-11 22-26-12 22-26-13 22-26-14 22-26-15 22-26-15 22-26-16 AGENCY AGING AN Reg. No. 26-38-1 26-38-2 26-38-3 26-38-4 26-38-5 26-38-6	Action New (T) New (T) Yet C: DEPARTM ID DISABILITY Action New New New New New New New New New New	Register           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1037           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1040           V. 40, p. 1040           V. 40, p. 1040           V. 40, p. 1157           V. 39, p. 1157	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-7 22-26-10 22-26-10 22-26-11 22-26-12 22-26-13 22-26-14 22-26-15 22-26-14 22-26-15 22-26-16 <b>AGENCY</b> <b>AGING AN</b> <b>Reg. No.</b> 26-38-1 26-38-2 26-38-3 26-38-4 26-38-5 26-38-6 26-38-7	Action New (T) New (T) Yet (C) C6: DEPARTM ID DISABILITY Action New New New New New New New New New New	Register           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1037           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1040           V. 40, p. 1040           V. 40, p. 1040           V. 40, p. 1057           V. 39, p. 1155           V. 39, p. 1157           V. 39, p. 1158           V. 39, p. 1158	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-7 22-26-9 22-26-10 22-26-11 22-26-12 22-26-13 22-26-14 22-26-15 22-26-15 22-26-16 AGENCY AGING AN Reg. No. 26-38-1 26-38-2 26-38-3 26-38-4 26-38-5 26-38-6	Action New (T) New (T) Yet C: DEPARTM ID DISABILITY Action New New New New New New New New New New	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1037 V. 40, p. 1038 V. 40, p. 1039 V. 40, p. 1040 ENT FOR SERVICES Register V. 39, p. 1155 V. 39, p. 1157 V. 39, p. 1157 V. 39, p. 1157 V. 39, p. 1158 V. 39, p. 1158 V. 39, p. 1158 V. 39, p. 1158 V. 39, p. 1158	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-8 22-26-9 22-26-10 22-26-11 22-26-12 22-26-13 22-26-13 22-26-14 22-26-15 22-26-16 AGENCY AGING AN Reg. No. 26-38-1 26-38-2 26-38-3 26-38-4 26-38-5 26-38-8 26-38-7 26-38-8 26-38-9 26-38-10	Action New (T) New (T) <b>26: DEPARTM</b> <b>D DISABILITY</b> Action New New New New New New New New New New	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1037 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1039 V. 40, p. 1040 ENT FOR SERVICES Register V. 39, p. 1155 V. 39, p. 1157 V. 39, p. 1157 V. 39, p. 1157 V. 39, p. 1158 V. 39, p. 1158 V. 39, p. 1158 V. 39, p. 1158 V. 39, p. 1159 V. 39, p. 1160 V. 39, p. 1160	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-9 22-26-10 22-26-10 22-26-11 22-26-12 22-26-13 22-26-13 22-26-14 22-26-15 22-26-15 22-26-16 <b>AGENCY</b> <b>AGING AN</b> <b>Reg. No.</b> 26-38-1 26-38-2 26-38-3 26-38-5 26-38-5 26-38-6 26-38-7 26-38-8 26-38-9 26-38-10 26-38-11	Action New (T) New (T)	Register V. 40, p. 1034 V. 40, p. 1035 V. 40, p. 1035 V. 40, p. 1037 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1038 V. 40, p. 1039 V. 40, p. 1040 ENT FOR SERVICES Register V. 39, p. 1155 V. 39, p. 1157 V. 39, p. 1158 V. 39, p. 1159 V. 39, p. 1150 V. 39, p. 1160 V. 39, p. 1160	
Reg. No. 22-26-1 22-26-2 22-26-3 22-26-4 22-26-5 22-26-6 22-26-7 22-26-9 22-26-10 22-26-11 22-26-12 22-26-13 22-26-13 22-26-14 22-26-15 22-26-15 22-26-16 AGENCY AGING AN Reg. No. 26-38-1 26-38-2 26-38-3 26-38-3 26-38-5 26-38-6 26-38-7 26-38-8 26-38-7 26-38-8 26-38-9 26-38-10 26-38-11 AGENCY 28:	Action New (T) New (T) <b>26: DEPARTM</b> <b>D DISABILITY</b> Action New New New New New New New New New New	Register           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1035           V. 40, p. 1037           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1038           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1039           V. 40, p. 1040           V. 40, p. 1040           SERVICES           Register           V. 39, p. 1155           V. 39, p. 1157           V. 39, p. 1157           V. 39, p. 1157           V. 39, p. 1158           V. 39, p. 1150           V. 39, p. 1150           V. 39, p. 1150           V. 39, p. 1160           V. 39, p. 1160	

28-1-42	New (1)	V. 39, p. 1018
28-1-42	New	V. 39, p. 1384
28-1-43	New (T)	V. 39, p. 1018
28-1-43	New	V. 39, p. 1385
28-1-44	New (T)	V. 39, p. 1019
28-1-44	New	V. 39, p. 1385
28-15-52	Amended	V. 39, p. 171
28-15-53	Amended	V. 39, p. 171
28-18-4	Amended	V. 40, p. 1186
28-18a-4	Amended	V. 40, p. 1187
28-19-719	Revoked	V. 39, p. 1459
28-19-720	Amended	V. 39, p. 1459
28-24-1	Amended	$V_{20} n_{326}$
28-24-2		V. 39, p. 336
	Amended	V. 39, p. 336
28-24-3	Amended	V. 39, p. 336
28-24-4	Amended	V. 39, p. 337
28-24-5	Amended	V. 39, p. 337
28-24-6	Amended	V. 39, p. 337
28-24-7	Amended	V. 39, p. 337
28-24-8	Amended	V. 39, p. 337
28-24-9	Amended	V. 39, p. 337
28-24-10	Amended	V. 39, p. 338
28-24-11	Amended	V. 39, p. 338
28-24-12	Amended	V. 39, p. 338
28-24-13	Amended	V. 39, p. 339
28-24-14	Amended	V. 39, p. 339
28-38-18	Revoked	V. 39, p. 1160
28-38-19	Revoked	
		V. 39, p. 1160
28-38-20	Revoked	V. 39, p. 1160
28-38-21	Revoked	V. 39, p. 1160
28-38-22	Revoked	V. 39, p. 1161
28-38-23	Revoked	V. 39, p. 1161
28-38-26	Revoked	V. 39, p. 1161
28-38-28	Revoked	V. 39, p. 1161
28-38-29	Revoked	V. 39, p. 1161
28-38-30	Revoked	V. 39, p. 1161
28-44-12	Amended	V. 39, p. 819
28-44-13	Amended	V. 39, p. 819
28-44-14	Amended	V. 39, p. 819
28-44-15	Amended	V. 39, p. 820
28-44-16	Amended	V. 39, p. 820
28-44-17	Amended	V. 39, p. 820
28-44-18	Amended	V. 39, p. 821
28-44-19	Amended	V. 39, p. 821
28-44-20	Amended	V. 39, p. 821
28-44-21	Amended	V. 39, p. 821
28-44-22	Amended	V. 39, p. 822
28-44-23	Amended	V. 39, p. 822
28-44-24	Amended	V. 39, p. 822
28-44-25	Amended	V. 39, p. 822
28-44-26	Amended	V. 39, p. 823
28-44-27	Amended	V. 39, p. 823
28-44-28	Revoked	V 20 p 824
		V. 39, p. 824
28-44-29	Amended	V. 39, p. 824
28-44-30	New	V. 39, p. 825
28-44-31	New	V. 39, p. 825
28-65-1	Amended	V. 40, p. 318
28-65-2	Amended	V. 40, p. 318
28-65-3	Amended	V. 40, p. 318
28-65-4	Amended	V. 40, p. 319
	36: KANSAS D TRANSPORTA	
Reg. No.	Action	Register
36-45-1	New (T)	V. 39, p. 1104

28-1-40

28-1-41

28-1-41

28-1-42

New

New

New (T)

New (T)

MC5. 110.	riction	Register
36-45-1	New (T)	V. 39, p. 1104
36-45-1	New	V. 39, p. 1490
36-45-2	New (T)	V. 39, p. 1105
36-45-2	New	V. 39, p. 1491
36-45-3	New (T)	V. 39, p. 1105
36-45-3	New	V. 39, p. 1491
36-45-4	New (T)	V. 39, p. 1106
36-45-4	New	V. 39, p. 1491
36-45-5	New (T)	V. 39, p. 1106

Vol. 40, No. 31, August 5, 2021

V. 39, p. 1384

V. 39, p. 1018

V. 39, p. 1384

V. 39, p. 1018

# Kansas Register

# **Index to Regulations**

o / 1= =	N.7	TT 00 1100
36-45-5	New	V. 39, p. 1492
36-45-6	New (T)	V. 39, p. 1106
		V. 00, p. 1100
36-45-6	New	V. 39, p. 1492
36-45-7	New (T)	V. 39, p. 1106
36-45-7	New	V. 39, p. 1492
36-45-8	New (T)	V. 39, p. 1107
36-45-8	New	V. 39, p. 1493
36-45-10	New (T)	V. 39, p. 1108
36-45-10	New	V. 39, p. 1494
		· 1
AGE	NCY 40: INSUR	ANCE
	DEPARTMENT	L
<b>D</b> 11		<b>D</b>
Reg. No.	Action	Register
40-1-28	Amended	V. 40, p. 191
40-1-52	New	V. 40, p. 191
		•
AGE	ENCY 60: BOAR	DOF
	NURSING	
	NUKSING	
D M	A 1°	р · .
Reg. No.	Action	Register
60-11-116	Amended	V. 39, p. 1021
60-11-119	Amended	V. 39, p. 1022
60-13-110	Amended	V. 39, p. 1022
60-16-101	Amended	V. 39, p. 12
60-16-103	Amended	V. 39, p. 12
60-16-104	Amended	
00-10-104	Amenueu	V. 39, p. 13
1.01		D OF
AGI	ENCY 61: BOAR	DOF
	BARBERING	
Reg. No.	Action	Register
61-4-3	New	V. 40, p. 161
AGE	ENCY 66: BOAR	D OF
TECH	NICAL PROFES	SIONS
ILCII		
Reg. No.	Action	Register
66-6-1	Amended	V. 39, p. 1425
66-6-10	Amended	V. 39, p. 1426
66-7-1	Amended	V. 39, p. 1427
0071		
	Amended	V 39 p 1427
66-8-3	Amended	V. 39, p. 1427
	Amended Amended	V. 39, p. 1427 V. 39, p. 1427
66-8-3 66-8-4	Amended	V. 39, p. 1427 V. 39, p. 1427
66-8-3 66-8-4 66-9-5	Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427
66-8-3 66-8-4	Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427
66-8-3 66-8-4 66-9-5 66-10-4	Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9	Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1428
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b	Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9	Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b 66-10-10c	Amended Amended Amended Amended Amended New	V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b 66-10-10c 66-10-12	Amended Amended Amended Amended Amended New Amended	V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b 66-10-10c	Amended Amended Amended Amended Amended New	V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-13	Amended Amended Amended Amended Amended New Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-13 66-11-5	Amended Amended Amended Amended New Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-13	Amended Amended Amended Amended Amended New Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-13 66-11-5 66-12-1	Amended Amended Amended Amended New Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-13 66-11-5 66-12-1 66-12-1	Amended Amended Amended Amended New Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429
66-8-3 66-8-4 66-9-5 66-10-4 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-13 66-11-5 66-12-1	Amended Amended Amended Amended New Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1430
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1430
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}100\\ 66\text{-}10\text{-}102\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}7\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1431
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 39, p. 1429 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1431 V. 39, p. 1431
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10b\\ 66\text{-}10\text{-}10c\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}12\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 39, p. 1429 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1431 V. 39, p. 1431
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ 66\text{-}14\text{-}9\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	$\begin{array}{c} V. \ 39, p. \ 1427\\ V. \ 39, p. \ 1428\\ V. \ 39, p. \ 1429\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1430\\ V. \ 39, p. \ 1430\\ V. \ 39, p. \ 1431\\ V$
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10b\\ 66\text{-}10\text{-}10c\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}12\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	$\begin{array}{c} V. \ 39, p. \ 1427\\ V. \ 39, p. \ 1428\\ V. \ 39, p. \ 1429\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1430\\ V. \ 39, p. \ 1431\\ V.$
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ 66\text{-}14\text{-}9\\ 66\text{-}14\text{-}10\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	$\begin{array}{c} V. \ 39, p. \ 1427\\ V. \ 39, p. \ 1428\\ V. \ 39, p. \ 1429\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1430\\ V. \ 39, p. \ 1431\\ V.$
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ 66\text{-}14\text{-}9\\ 66\text{-}14\text{-}10\\ 66\text{-}14\text{-}11\\ \end{array}$	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	$\begin{array}{c} V. \ 39, p. \ 1427\\ V. \ 39, p. \ 1428\\ V. \ 39, p. \ 1429\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1430\\ V. \ 39, p. \ 1430\\ V. \ 39, p. \ 1431\\ V.$
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\text{-}0\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ 66\text{-}14\text{-}9\\ 66\text{-}14\text{-}10\\ 66\text{-}14\text{-}11\\ 66\text{-}14\text{-}12\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	$\begin{array}{c} V. \ 39, p. \ 1427\\ V. \ 39, p. \ 1428\\ V. \ 39, p. \ 1429\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1420\\ V. \ 39, p. \ 1431\\ V. $
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ 66\text{-}14\text{-}9\\ 66\text{-}14\text{-}10\\ 66\text{-}14\text{-}11\\ \end{array}$	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	$\begin{array}{c} V. \ 39, p. \ 1427\\ V. \ 39, p. \ 1428\\ V. \ 39, p. \ 1429\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1420\\ V. \ 39, p. \ 1431\\ V. $
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\text{-}0\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ 66\text{-}14\text{-}9\\ 66\text{-}14\text{-}10\\ 66\text{-}14\text{-}11\\ 66\text{-}14\text{-}12\\ \end{array}$	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	$\begin{array}{c} V. \ 39, p. \ 1427\\ V. \ 39, p. \ 1428\\ V. \ 39, p. \ 1429\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1429\\ V. \ 40, p. \ 670\\ V. \ 39, p. \ 1430\\ V. \ 39, p. \ 1430\\ V. \ 39, p. \ 1431\\ V.$
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ 66\text{-}14\text{-}9\\ 66\text{-}14\text{-}10\\ 66\text{-}14\text{-}11\\ 66\text{-}14\text{-}12\\ 66\text{-}15\text{-}1\\ \end{array}$	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended New	$\begin{array}{l} V. 39, p. 1427\\ V. 39, p. 1427\\ V. 39, p. 1427\\ V. 39, p. 1427\\ V. 39, p. 1428\\ V. 39, p. 1429\\ V. 39, p. 1429\\ V. 40, p. 670\\ V. 39, p. 1429\\ V. 40, p. 670\\ V. 39, p. 1430\\ V. 39, p. 1430\\ V. 39, p. 1431\\ V. 39, p.$
$\begin{array}{c} 66\text{-}8\text{-}3\\ 66\text{-}8\text{-}4\\ 66\text{-}9\text{-}5\\ 66\text{-}10\text{-}4\\ 66\text{-}10\text{-}9\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}2\\ 66\text{-}14\text{-}3\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}5\\ 66\text{-}14\text{-}6\\ 66\text{-}14\text{-}7\\ 66\text{-}14\text{-}8\\ 66\text{-}14\text{-}9\\ 66\text{-}14\text{-}10\\ 66\text{-}14\text{-}11\\ 66\text{-}14\text{-}12\\ 66\text{-}15\text{-}1\\ \end{array}$	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	$\begin{array}{l} V. 39, p. 1427\\ V. 39, p. 1427\\ V. 39, p. 1427\\ V. 39, p. 1427\\ V. 39, p. 1428\\ V. 39, p. 1429\\ V. 39, p. 1429\\ V. 40, p. 670\\ V. 39, p. 1429\\ V. 40, p. 670\\ V. 39, p. 1430\\ V. 39, p. 1430\\ V. 39, p. 1431\\ V. 39, p.$
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-12 66-10-13 66-14-1 66-14-2 66-14-3 66-14-2 66-14-3 66-14-5 66-14-5 66-14-6 66-14-7 66-14-12 66-14-11 66-14-11 66-14-12 66-15-1 AGENCY 6	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amende	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1431
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-10c 66-10-12 66-10-12 66-10-13 66-14-1 66-14-2 66-14-3 66-14-3 66-14-5 66-14-5 66-14-5 66-14-5 66-14-6 66-14-7 66-14-10 66-14-11 66-14-12 66-15-1 AGENCY 6 Reg. No.	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Amended Setoked Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Am	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1431 V. 39, p.
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-13 66-11-5 66-12-1 66-14-1 66-14-2 66-14-3 66-14-3 66-14-5 66-14-5 66-14-7 66-14-8 66-14-7 66-14-8 66-14-7 66-14-12 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Bevoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Bevoked Revoked Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1431 V. 39, p
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-10c 66-10-12 66-10-12 66-10-13 66-14-1 66-14-2 66-14-3 66-14-3 66-14-5 66-14-5 66-14-5 66-14-5 66-14-6 66-14-7 66-14-10 66-14-11 66-14-12 66-15-1 AGENCY 6 Reg. No.	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Amended Setoked Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Am	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1431 V. 39, p
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-13 66-11-5 66-12-1 66-14-1 66-14-2 66-14-3 66-14-5 66-14-5 66-14-5 66-14-5 66-14-4 66-14-7 66-14-8 66-14-12 66-14-12 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Bevoked Revoked Revoked Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1451 V. 39, p. 105 V. 39, p. 106
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-13 66-11-5 66-12-1 66-14-1 66-14-2 66-14-3 66-14-5 66-14-5 66-14-5 66-14-5 66-14-4 66-14-7 66-14-8 66-14-12 66-14-12 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Bevoked Revoked Revoked Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1451 V. 39, p. 105 V. 39, p. 106
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-12 66-12-1 66-14-2 66-14-3 66-14-3 66-14-5 66-14-5 66-14-4 66-14-7 66-14-8 66-14-7 66-14-8 66-14-9 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>AGEN</b>	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Beroked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1431 V. 39, p. 1451 V. 39, p. 105 V. 39, p. 1061 V. 39, p. 1
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-12 66-12-1 66-14-2 66-14-3 66-14-3 66-14-5 66-14-5 66-14-4 66-14-7 66-14-8 66-14-7 66-14-8 66-14-9 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>AGEN</b>	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Bevoked Revoked Revoked Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1431 V. 39, p. 1451 V. 39, p. 105 V. 39, p. 1061 V. 39, p. 1
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-13 66-12-1 66-14-1 66-14-2 66-14-3 66-14-5 66-14-5 66-14-5 66-14-6 66-14-7 66-14-8 66-14-9 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>AGE</b>	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Amended Amended Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Amended Revoked Revoked Revoked Amended Revoked Revoked Amended Amended Amended Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amende	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1451 V. 39, p. 105 V. 30, p. 105 V
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-12 66-10-13 66-14-1 66-14-2 66-14-3 66-14-2 66-14-3 66-14-3 66-14-2 66-14-3 66-14-3 66-14-3 66-14-3 66-14-3 66-14-4 66-14-12 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>AGE</b> <b>C</b> <b>Reg. No.</b>	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Beroked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 105 V. 30, p. 105 V.
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-12 66-10-13 66-14-1 66-14-2 66-14-3 66-14-2 66-14-3 66-14-3 66-14-2 66-14-3 66-14-3 66-14-3 66-14-3 66-14-3 66-14-4 66-14-12 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>AGE</b> <b>C</b> <b>Reg. No.</b>	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Amended CRCY 69: BOAR COSMETOLOG Action	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 105 V. 30, p. 105 V.
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-12 66-12-1 66-14-1 66-14-2 66-14-3 66-14-5 66-14-5 66-14-5 66-14-5 66-14-4 66-14-12 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>AGE</b> <b>CReg. No.</b> 69-3-8	Amended Amended Amended Amended New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Beroked Amended Amended Amended Amended Cosmerolog BOARD OF F Action Amended Amended Amended Amended Amended Amended Cosmerolog Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1441 V. 39, p.
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-12 66-10-13 66-14-1 66-14-2 66-14-3 66-14-2 66-14-3 66-14-3 66-14-2 66-14-3 66-14-3 66-14-3 66-14-3 66-14-3 66-14-4 66-14-12 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>AGE</b> <b>C</b> <b>Reg. No.</b>	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Amended CRCY 69: BOAR COSMETOLOG Action	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 105 V. 30, p. 105 V.
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-13 66-14-1 66-14-2 66-14-3 66-14-2 66-14-3 66-14-2 66-14-3 66-14-5 66-14-3 66-14-7 66-14-8 66-14-9 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>Reg. No.</b> 69-3-8 69-3-8 69-3-8	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Store 69: BOAR COSMETOLOG Attion Amended (T) Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 105 V. 39, p. 105 V. 39, p. 1186 V. 39, p. 1583
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-10c 66-10-12 66-10-12 66-14-1 66-14-2 66-14-3 66-14-2 66-14-3 66-14-2 66-14-3 66-14-5 66-14-3 66-14-3 66-14-3 66-14-3 66-14-4 66-14-12 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>Reg. No.</b> 69-3-8 69-3-8 69-3-8	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Bevoked Revoked Amended Amended Amended Amended Amended Amended Cos BOARD OF F Action Amended Amended Amended Amended Cos METOLOG Action Amended (T) Amended Amended (T) Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 105 V. 39, p. 105 V. 39, p. 1186 V. 39, p. 1583
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-10c 66-10-12 66-10-12 66-14-1 66-14-2 66-14-3 66-14-2 66-14-3 66-14-2 66-14-3 66-14-5 66-14-3 66-14-3 66-14-3 66-14-3 66-14-4 66-14-12 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>Reg. No.</b> 69-3-8 69-3-8 69-3-8	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Store 69: BOAR COSMETOLOG Attion Amended (T) Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 105 V. 39, p. 105 V. 39, p. 1186 V. 39, p. 1583
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10c 66-10-10c 66-10-12 66-10-12 66-14-1 66-14-2 66-14-3 66-14-2 66-14-3 66-14-2 66-14-3 66-14-5 66-14-3 66-14-3 66-14-3 66-14-3 66-14-4 66-14-12 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>Reg. No.</b> 69-3-8 69-3-8 69-3-8	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Bevoked Revoked Amended Amended Amended Amended Amended Amended Cos BOARD OF F Action Amended Amended Amended Amended Cos METOLOG Action Amended (T) Amended Amended (T) Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 105 V. 39, p. 105 V. 39, p. 1186 V. 39, p. 1583
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10 66-10-10 66-10-12 66-10-13 66-11-5 66-12-1 66-14-1 66-14-2 66-14-3 66-14-5 66-14-5 66-14-5 66-14-7 66-14-8 66-14-7 66-14-8 66-14-7 66-14-8 66-14-9 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>AGE</b> <b>VETE</b>	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Cosmerolog Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Amended New 8: BOARD OF P Action Amended Amended Amended Amended Cosmerolog Action Amended (T) Amended Cosmerolog Amended (T) Amended (T)	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1452 V. 39, p. 105 V. 39, p. 1186 V. 39, p. 1583 V. 39, P. 1583 V. 30 V. 30 V
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10b 66-10-10b 66-10-10c 66-10-12 66-10-12 66-10-13 66-14-1 66-14-2 66-14-3 66-14-2 66-14-3 66-14-3 66-14-5 66-14-3 66-14-3 66-14-3 66-14-7 66-14-8 66-14-9 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>Reg. No.</b> 69-3-8 69-3-8 69-3-8 69-3-8 <b>AGE</b> VETE <b>Reg. No.</b>	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Amended Costion Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Revoked Amended Amended Costion Amended Amended Amended Revoked Revoked Revoked Amended Amended Revoked Revoked Amended Amended Revoked Revoked Amended Amended Amended Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amende	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1429 V. 40, p. 670 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 145 V. 39, p. 105 V. 39, p. 1186 V. 39, p. 1583 CD OF
66-8-3 66-8-4 66-9-5 66-10-9 66-10-10 66-10-10 66-10-12 66-10-13 66-11-5 66-12-1 66-14-1 66-14-2 66-14-3 66-14-5 66-14-5 66-14-5 66-14-7 66-14-8 66-14-7 66-14-8 66-14-7 66-14-8 66-14-9 66-14-10 66-14-11 66-14-12 66-15-1 <b>AGENCY 6</b> <b>Reg. No.</b> 68-2-5 68-5-16 <b>AGE</b> <b>VETE</b>	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Amended Amended Amended Cosmerolog Amended Amended Amended Amended Amended Revoked Revoked Revoked Revoked Revoked Revoked Amended New 8: BOARD OF P Action Amended Amended Amended Amended Cosmerolog Action Amended (T) Amended Cosmerolog Amended Amended (T) Amended	V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1427 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1428 V. 39, p. 1429 V. 39, p. 1430 V. 39, p. 1430 V. 39, p. 1431 V. 39, p. 1452 V. 39, p. 105 V. 39, p. 1186 V. 39, p. 1583 V. 39, P. 1583 V. 30 V. 30 V

© Kansas Secretary of State 2021

#### AGENCY 74: BOARD OF ACCOUNTANCY

ACCOUNTANCY				
Reg. No.	Action	Register		
74-1-3	Amended	V. 38, p. 1337		
AGENCY 82: STATE CORPORATION COMMISSION				
Reg. No.	Action	Register		
82-4-3a	Amended (T)	V. 39, p. 1188		
82-4-3a	Amended	V. 39, p. 1608		
82-4-30a	Amended (T)	V. 39, p. 1383		
82-4-30a	Amended	V. 40, p. 160		
AGENCY 86: REAL ESTATE COMMISSION				
Reg. No.	Action	Register		
86-1-10	Amended	V. 39, p. 54		
86-1-11	Amended	V. 39, p. 55		
86-1-12	Amended	V. 39, p. 56		
86-1-13 86-1-16	Revoked Revoked	V. 39, p. 56 V. 39, p. 56		
86-1-17	Amended	V. 39, p. 56 V. 39, p. 56		
86-1-18	Revoked	V. 39, p. 56		
86-3-6a	Revoked	V. 39, p. 56		
86-3-7	Amended	V. 39, p. 56		
86-3-10	Amended	V. 40, p. 497		
86-3-18	Amended	V. 40, 497		
86-3-20	Revoked	V. 39, p. 57		
86-3-21	Revoked	V. 40, p. 498		
86-3-22	Amended	V. 40, p. 498		
	88: BOARD OF	1		
Reg. No.	Action	Register		
88-10-1	Revoked	V. 39, p. 1270		
88-10-2	Revoked	V. 39, p. 1270		
88-10-3	Revoked	V. 39, p. 1270		
88-10-4	Revoked	V. 39, p. 1270		
88-10-5	Revoked	V. 39, p. 1270		
88-10-6	Revoked	V. 39, p. 1270		
88-10-7	Revoked	V. 39, p. 1270		
88-10-8	Revoked	V. 39, p. 1270		
88-10-10	Revoked	V. 39, p. 1270		
88-10-12	Revoked	V. 39, p. 1270		
88-11-1 88-11-2	Revoked	V. 39, p. 1270		
88-11-3	Revoked	V. 39, p. 1270 V. 39, p. 1270		
88-11-4	Revoked Revoked	V. 39, p. 1270 V. 39, p. 1270		
88-11-5	Revoked	V. 39, p. 1270 V. 39, p. 1270		
88-11-6	Revoked	V. 39, p. 1270		
88-11-7	Revoked	V. 39, p. 1270		
88-11-8	Revoked	V. 39, p. 1270		
88-11-9	Revoked	V. 39, p. 1270		
88-11-11	Revoked	V. 39, p. 1270		
88-11-12	Revoked	V. 39, p. 1270		
88-25-1	New	V. 39, p. 748		
88-25-2	New	V. 39, p. 748		
88-25-3	New	V. 39, p. 748		
88-25-4	New	V. 39, p. 748		
88-25-5	New	V. 39, p. 748		
88-29-1	Revoked	V. 39, p. 1215		
88-29-3	Amended	V. 39, p. 1215		
88-29-11	Revoked	V. 39, p. 1216		
88-29-12	Amended	V. 39, p. 1216		
88-29-13	Amended	V. 39, p. 1216		
88-29-14	Amended	V. 39, p. 1218		
88-29-15 88-29-16	Amended	V. 39, p. 1218		
88-29-16 88-29-17	Amended	V. 39, p. 1219		
88-29-17 88-29-18	Amended	V. 39, p. 1220		
88-29-18 88-29-19	Revoked Revoked	V. 39, p. 1221		
88-29-19 88-29a-1	Amended	V. 39, p. 1221 V 39 p. 1221		
88-29a-5	Amended	V. 39, p. 1221 V. 39, p. 1223		
88-29a-6	Amended	V. 39, p. 1223 V. 39, p. 1223		
88-29a-7	Amended	V. 39, p. 1223		
88-29a-7a	Amended	V. 39, p. 1223		
	- menacu			

88-29a-9	Amended	V. 39, p. 1224	
88-29a-10	Amended	V. 39, p. 1225	
88-29a-11	Amended	V. 39, p. 1227	
88-29a-18	Amended	V. 39, p. 1228	
88-29a-19	Amended	V. 39, p. 1229 V. 39, p. 1229	
88-29b-1 88-29b-3	Amended Amended	V. 39, p. 1229 V. 39, p. 1231	
88-29b-5	Amended	V. 39, p. 1231 V. 39, p. 1231	
88-29b-6	Amended	V. 39, p. 1231 V. 39, p. 1232	
88-29b-7	Amended	V. 39, p. 1232	
88-29b-7a	Amended	V. 39, p. 1234	
88-29b-9	Amended	V. 39, p. 1234	
88-29b-10	Amended	V. 39, p. 1235	
88-29c-1	Amended	V. 39, p. 1236	
88-29c-5	Amended	V. 39, p. 1238	
88-29c-7	Amended	V. 39, p. 1238	
88-29c-9	Amended	V. 39, p. 1238	
88-29c-10	Amended	V. 39, p. 1239	
88-29d-1	Amended	V. 39, p. 1240	
88-29d-5	Amended	V. 39, p. 1241	
88-29d-7	Amended	V. 39, p. 1242	
88-29d-9	Amended	V. 39, p. 1242	
88-29d-10	Amended (T)	V. 39, p. 1243	
88-30-1 88-30-1	Amended (T) Amended	V. 39, p. 890	
88-30-2	Amended	V. 39, p. 1269 V. 39, p. 1270	
		-	
AGEN	CY 92: DEPAR OF REVENUE		
Pag No		Register	
<b>Reg. No.</b> 92-19-47	Action Revoked	V. 40, p. 290	
92-19-67	Revoked	V. 40, p. 290	
		-	
AGENCY 100: BOARD OF HEALING ARTS			
]	HEALING ART	ſS	
<b>Reg. No.</b> 100-6-2	Action	Register	
Reg. No.		<b>Register</b> V. 40, p. 571	
<b>Reg. No.</b> 100-6-2	<b>Action</b> Amended	<b>Register</b> V. 40, p. 571 V. 40, p. 290	
<b>Reg. No.</b> 100-6-2 100-6-2a	<b>Action</b> Amended New	<b>Register</b> V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572	
<b>Reg. No.</b> 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4	<b>Action</b> Amended New Amended New Amended	Register V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572	
<b>Reg. No.</b> 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5	Action Amended New Amended New Amended Amended	<b>Register</b> V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573	
<b>Reg. No.</b> 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5	Action Amended New Amended New Amended Amended Amended	<b>Register</b> V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096	
<b>Reg. No.</b> 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-16	Action Amended New Amended New Amended Amended Amended	<b>Register</b> V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096 V. 40, p. 1097	
<b>Reg. No.</b> 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-16 100-76-6	Action Amended New Amended Amended Amended Amended Amended Amended	Register V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096 V. 40, p. 1097 V. 39, p. 1360	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-16 100-76-6 100-78-1	Action Amended New Amended Amended Amended Amended Amended Amended New (T)	Register V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096 V. 40, p. 1097 V. 39, p. 1360 V. 39, p. 250	
<b>Reg. No.</b> 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-76-6 100-78-1	Action Amended New Amended Amended Amended Amended Amended New (T) New	Register V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096 V. 40, p. 1097 V. 39, p. 1360 V. 39, p. 250 V. 39, p. 570	
<b>Reg. No.</b> 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-78-1 100-78-1 100-78-2	Action Amended New Amended Amended Amended Amended Amended New (T) New New (T)	Register V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096 V. 40, p. 1097 V. 39, p. 1360 V. 39, p. 250 V. 39, p. 250	
<b>Reg. No.</b> 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-76-6 100-78-1 100-78-1 100-78-2 100-78-2	Action Amended New Amended Amended Amended Amended Amended New (T) New New (T) New	Register V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096 V. 40, p. 1097 V. 39, p. 1360 V. 39, p. 250 V. 39, p. 250 V. 39, p. 570 V. 39, p. 570	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-16 100-76-6 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2	Action Amended New Amended Amended Amended Amended Amended New (T) New New (T)	Register V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096 V. 40, p. 1097 V. 39, p. 1360 V. 39, p. 250 V. 39, p. 250 V. 39, p. 570 V. 39, p. 570 RD OF	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-76-6 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2	Action Amended New Amended Amended Amended Amended Amended New (T) New New (T) New NEY 105: BOAJ	Register V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096 V. 40, p. 1097 V. 39, p. 1360 V. 39, p. 250 V. 39, p. 570 V. 39, p. 570 V. 39, p. 570 RD OF SERVICES	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-76-6 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 Reg. No.	Action Amended New Amended Amended Amended Amended Amended Amended New (T) New New (T) New NCY 105: BOAJ TS' DEFENSE Action	Register V. 40, p. 571 V. 40, p. 290 V. 39, p. 1359 V. 40, p. 572 V. 40, p. 572 V. 40, p. 573 V. 40, p. 1096 V. 40, p. 1097 V. 39, p. 1360 V. 39, p. 250 V. 39, p. 250 V. 39, p. 570 RD OF SERVICES Register	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-76-6 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 <b>AGE</b> INDIGEN Reg. No. 105-5-2	Action Amended New Amended Amended Amended Amended Amended Amended New (T) New New (T) New New (T) New NEY 105: BOAJ TS' DEFENSE Action Amended	Register           V. 40, p. 571           V. 40, p. 290           V. 39, p. 1359           V. 40, p. 572           V. 40, p. 572           V. 40, p. 573           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 570           V. 39, p. 570           V. 39, p. 570           ROF           SERVICES           Register           V. 39, p. 252	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-76-6 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 <b>AGE</b> INDIGEN Reg. No. 105-5-2 105-5-3	Action Amended New Amended Amended Amended Amended Amended Amended New (T) New New (T) New NCY 105: BOAJ ITS' DEFENSE Action Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 572           V. 40, p. 573           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 570           X. 39, p. 570           V. 39, p. 570           V. 39, p. 570           V. 39, p. 570           X. 39, p. 252           V. 39, p. 252           V. 39, p. 252           V. 39, p. 252           V. 39, p. 252	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-76-6 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 <b>AGE</b> INDIGEN Reg. No. 105-5-2	Action Amended New Amended Amended Amended Amended Amended Amended New (T) New New (T) New New (T) New NEY 105: BOAJ TS' DEFENSE Action Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 572           V. 40, p. 572           V. 40, p. 573           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 570           X. 39, p. 252           V. 39, p. 252	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-78-1 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 NOIGEN Reg. No. 105-5-2 105-5-3 105-5-6	Action Amended New Amended Amended Amended Amended Amended Amended New (T) New New (T) New NCY 105: BOAJ TS' DEFENSE Action Amended Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 572           V. 40, p. 573           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 570           X. 39, p. 570           V. 39, p. 570           V. 39, p. 570           V. 39, p. 570           X. 39, p. 252           V. 39, p. 252           V. 39, p. 252           V. 39, p. 252           V. 39, p. 252	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-78-1 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 100-5-2 105-5-3 105-5-6 105-5-7 105-5-8	Action Amended New Amended Amended Amended Amended Amended New (T) New New (T) New NCY 105: BOAJ TS' DEFENSE Action Amended Amended Amended Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 572           V. 40, p. 572           V. 40, p. 573           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 570           V. 39, p. 252           V. 39, p. 252     <	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-78-1 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 100-78-2 100-5-2 105-5-3 105-5-6 105-5-7 105-5-8	Action Amended New Amended Amended Amended Amended Amended Amended New (T) New New (T) New NCY 105: BOAJ TS' DEFENSE Action Amended Amended Amended Amended Amended Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 572           V. 40, p. 572           V. 40, p. 573           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 570           V. 39, p. 570           V. 39, p. 570           V. 39, p. 570           V. 39, p. 250           V. 39, p. 570           V. 39, p. 250           V. 39, p. 252           V. 39, p. 252     <	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-78-1 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 100-78-2 100-5-2 105-5-3 105-5-3 105-5-7 105-5-8 <b>AGE</b> EMERGEN Reg. No.	Action Amended New Amended Amended Amended Amended Amended Amended New (T) New New (T) New NCY 105: BOAJ TS' DEFENSE Action Amended Amended Amended Amended Amended Amended Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 250           V. 39, p. 570           V. 39, p. 570           V. 39, p. 570           V. 39, p. 570           V. 39, p. 250           V. 39, p. 252           V. 39, p. 252     <	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-78-1 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 100-5-2 105-5-3 105-5-6 105-5-7 105-5-8 AGE EMERGEN Reg. No. 109-3-3	Action Amended New Amended Amended Amended Amended Amended Amended Mew (T) New NCY 105: BOAJ TS' DEFENSE Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 250           V. 39, p. 570           V. 39, p. 570           V. 39, p. 570           V. 39, p. 250           V. 39, p. 250           V. 39, p. 252           RED OF           SERVICES           Register           V. 39, p. 30	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-78-1 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 100-78-2 100-5-2 105-5-3 105-5-6 105-5-7 105-5-8 AGE EMERGEN Reg. No. 109-3-3 109-3-4	Action Amended New Amended Amended Amended Amended Amended Amended Mew (T) New New (T) New NCY 105: BOAJ TS' DEFENSE Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 572           V. 40, p. 573           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 570           V. 39, p. 250           V. 39, p. 570           REGISTER           V. 39, p. 252           V. 39, p. 30           V. 39, p. 31	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 100-78-2 100-78-2 100-5-3 105-5-4 105-5-3 105-5-6 105-5-7 105-5-8 AGE EMERGEN Reg. No. 109-3-3 109-3-4 109-5-1a	Action Amended New Amended Amended Amended Amended Amended Amended New (T) New NCY 105: BOAJ TS' DEFENSE Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 572           V. 40, p. 572           V. 40, p. 573           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 570           V. 39, p. 250           V. 39, p. 252           V. 39, p. 30           V. 39, p. 30           V. 39, p. 31           V. 39, p. 32	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-78-1 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 100-78-2 100-5-2 105-5-3 105-5-6 105-5-7 105-5-8 AGE EMERGEN Reg. No. 109-3-3 109-3-4	Action Amended New Amended Amended Amended Amended Amended Amended Mew (T) New New (T) New NCY 105: BOAJ TS' DEFENSE Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 572           V. 40, p. 572           V. 40, p. 572           V. 40, p. 573           V. 40, p. 1096           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 570           V. 39, p. 250           V. 39, p. 252           V. 39, p. 30           V. 39, p. 31	
Reg. No. 100-6-2 100-6-2a 100-7-1 100-8-3 100-15-4 100-15-5 100-28a-5 100-28a-5 100-28a-16 100-78-1 100-78-1 100-78-1 100-78-2 100-78-2 100-78-2 100-78-2 100-78-2 100-5-2 105-5-3 105-5-3 105-5-6 105-5-7 105-5-8 <b>AGE</b> EMERGEN Reg. No. 109-3-3 109-3-4 109-5-1a 109-5-1a 109-11-1a	Action Amended New Amended Amended Amended Amended Amended Amended New (T) New NCY 105: BOAJ TS' DEFENSE Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register           V. 40, p. 571           V. 40, p. 571           V. 40, p. 1359           V. 40, p. 572           V. 40, p. 573           V. 40, p. 1097           V. 39, p. 1360           V. 39, p. 250           V. 39, p. 250           V. 39, p. 250           V. 39, p. 570           V. 39, p. 250           V. 39, p. 250           V. 39, p. 250           V. 39, p. 252           V. 39, p. 30           V. 39, p. 31           V. 39, p. 32           V. 39, p. 32           V. 39, p. 32	

A complete index listing all regulations filed by the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 *Kansas Register*. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 *Kansas Register*. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No.

# Vol. 40, No. 31, August 5, 2021

52, December 29, 2005 Kansas Register. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 Kansas Register. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009, through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 Kansas Register. A list of regulations filed from December 22, 2011, through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 Kansas Register. A list of regulations filed from November 7, 2013, through December 31, 2015, can be found in the Vol. 34, No. 53, December 31, 2015 Kansas Register. A list of regulations filed from 2016 through 2017, can be found in the Vol. 36, No. 52, December 28, 2017 Kansas Register. A list of regulations filed from 2018 through 2019, can be found in the Vol. 38, No. 52, December 26, 2019 Kansas Register

		ind in the Vol. 38, No.	111-4-3668	New	V. 40, p. 1138
		ansas Register.	111-4-3669	New	V. 40, p. 1157
Reg. No.	Action	Register	111-4-3670	New	V. 40, p. 1158
111-2-328	New	V. 39, p. 1460	111-5-22	Amended	V. 40, p. 922
111-4-3595	New	V. 39, p. 57	111-5-24	Amended	V. 40, p. 922
111-4-3596	New	V. 39, p. 58	111-5-223	Amended	V. 40, p. 428
111-4-3597	New	V. 39, p. 59	111-5-245	New	V. 39, p. 577
111-4-3598	New	V. 39, p. 60	111-5-246	New	V. 40, p. 429
111-4-3599	New	V. 39, p. 61	111-5-247	New	V. 40, p. 1139
111-4-3600	New	V. 39, p. 63	111-9-223	New	V. 39, p. 625
111-4-3601	New	V. 39, p. 532	111-9-224	New	V. 39, p. 867
111-4-3602	New	V. 39, p. 533	111-9-225	New	V. 40, p. 578
111-4-3603	New	V. 39, p. 570	111-9-226	New	V. 40, p. 923
111-4-3604	New	V. 39, p. 572	111-9-227	New	V. 40, p. 923
111-4-3605	New	V. 39, p. 573	111-9-228	New	V. 40, p. 924
111-4-3606	New	V. 39, p. 574	111-15-1	Amended	V. 40, p. 1159
111-4-3607	New	V. 39, p. 576	111-15-3	Amended	V. 40, p. 1160
111-4-3608	New	V. 39, p. 621	111-15-4	Amended	V. 39, p. 1081
111-4-3609	New	V. 39, p. 623	111-15-5	Amended	V. 39, p. 1081
111-4-3610	New	V. 39, p. 624	111-15-6	Amended	V. 39, p. 1081
111-4-3611	New	V. 39, p. 854	111-15-10	Amended	V. 39, p. 1082
111-4-3612	New	V. 39, p. 855	111-19-72	Amended	V. 39, p. 64
111-4-3613	New	V. 39, p. 856	111-19-73	New	V. 39, p. 64
111-4-3614	New	V. 39, p. 858	111-19-74	New	V. 39, p. 65
111-4-3615	New	V. 39, p. 859	111-19-75	New	V. 39, p. 65
111-4-3616	New	V. 39, p. 860	111-19-76	New	V. 39, p. 74
111-4-3617	New	V. 39, p. 861	111-19-77	New	V. 39, p. 578
111-4-3618	New	V. 39, p. 862	111-19-78	New	V. 39, p. 579
111-4-3619	New	V. 39, p. 862	111-19-79	New	V. 39, p. 580
111-4-3620	New	V. 39, p. 864	111-19-80	New	V. 39, p. 626
111-4-3621	New	V. 39, p. 865	111-19-81	New	V. 39, p. 626
111-4-3623	New	V. 39, p. 866	111-19-82	New	V. 39, p. 868
111-4-3624	New	V. 39, p. 891	111-19-83	New	V. 39, p. 868
111-4-3625	New	V. 39, p. 892	111-19-84	New	V. 39, p. 868
111-4-3626	New	V. 39, p. 893	111-19-85	New	V. 39, p. 869
111-4-3627	New	V. 39, p. 894	111-19-86	New	V. 39, p. 870
111-4-3628	New	V. 39, p. 896	111-19-87	New	V. 39, p. 901
111-4-3629	New	V. 39, p. 897	111-19-88	New	V. 39, p. 901
111-4-3630	New	V. 39, p. 900	111-19-89	New	V. 39, p. 1082
111-4-3631	New	V. 39, p. 1076	111-19-90	New	V. 39, p. 1115
111-4-3632	New	V. 39, p. 1077	111-19-91	New	V. 39, p. 1116
111-4-3633	New	V. 39, p. 1109	111-19-92	New	V. 39, p. 1116
111-4-3634	New	V. 39, p. 1109	111-19-93	New	V. 39, p. 1337
111-4-3635	New	V. 39, p. 1110	111-19-94	New	V. 39, p. 1405
111-4-3636	New	V. 39, p. 1111	111-19-95	New	V. 39, p. 1405
111-4-3637	New	V. 39, p. 1113	111-19-96	New	V. 39, p. 1406
111-4-3638	New	V. 39, p. 1114	111-19-97	New	V. 40, p. 42
111-4-3639	New	V. 39, p. 1333	111-19-98	New	V. 40, p. 43
111-4-3640	New	V. 39, p. 1334	111-19-99	New	V. 40, p. 44
111-4-3641	New	V. 39, p. 1335	111-19-100	New	V. 40, p. 200
111-4-3642	New	V. 39, p. 1336	111-19-101	New	V. 40, p. 430
111-4-3643	New	V. 39, p. 1404	111-19-102	New	V. 40, p. 578
111-4-3644	New	V. 39, p. 1460	111-19-103	New	V. 40, p. 579
111-4-3645	New	V. 39, p. 1462	111-19-104	New	V. 40, p. 1139
111-4-3646	New	V. 39, p. 1463	111-19-105	New	V. 40, p. 1140
111-4-3647	New	V. 39, p. 1465	111-19-106	New	V. 40, p. 1140

Kansas Register

New

111-4-3648

111-4-3649

111-4-3650

111-4-3651

111-4-3652

111-4-3653

111-4-3654

111-4-3655

111-4-3656

111-4-3657

111-4-3658

111-4-3659

111-4-3660

111-4-3661

111-4-3662

111-4-3663

111-4-3664

111-4-3665

111-4-3666

111-4-3667

111-4-3668

V 20 p 1466	111-19-107	Now	V 40 p 1161
V. 39, p. 1466 V. 40, p. 40	111-19-107	New New	V. 40, p. 1161 V. 40, p. 1161
V. 40, p. 41	111-19-109	New	V. 40, p. 1161 V. 40, p. 1162
V. 40, p. 192	111-301-3	Amended	V. 40, p. 924
V. 40, p. 193	111-301-4	Amended	V. 39, p. 534
V. 40, p. 194	111-301-5	Amended	V. 40, p. 925
V. 40, p. 196	111-301-6	Amended	V. 40, p. 926
V. 40, p. 197	111-301-43	Amended	V. 39, p. 537
V. 40, p. 199	111-301-60	Amended	V. 39, p. 66
V. 40, p. 427	111-301-62	Amended	V. 39, p. 67
V. 40, p. 573	111-301-64	Amended	V. 39, p. 538
V. 40, p. 575	111-301-66	Amended	V. 39, p. 538
V. 40, p. 576	111-301-72	New	V. 39, p. 1338
V. 40, p. 920	111-301-73 111-301-74	New	V. 39, p. 1338
V. 40, p. 921 V. 40, p. 1133	111-301-74	Amended Amended	V. 40, p. 928 V. 40, p. 928
V. 40, p. 1133 V. 40, p. 1134	111-301-76	Amended	V. 40, p. 928
V. 40, p. 1135	111-302-4	Amended	V. 39, p. 68
V. 40, p. 1136	111-302-5	Amended	V. 39, p. 1082
V. 40, p. 1137	111-305-5	Amended	V. 39, p. 539
V. 40, p. 1138	111-305-6	Amended	V. 39, p. 539
V. 40, p. 1157	111-401-253	New	V. 39, p. 69
V. 40, p. 1158	111-401-254	New	V. 39, p. 69
V. 40, p. 922	111-401-255	New	V. 39, p. 71
V. 40, p. 922	111-501-22	Amended	V. 40, p. 1163
V. 40, p. 428	111-501-44	Amended	V. 40, p. 929
V. 39, p. 577	111-501-45	Amended	V. 40, p. 932
V. 40, p. 429	111-501-71	Amended	V. 39, p. 1340
V. 40, p. 1139	111-501-81 111-501-105	Amended Amended	V. 39, p. 1340
V. 39, p. 625 V. 39, p. 867	111-501-105	Amended	V. 40, p. 430 V. 40, p. 431
V. 40, p. 578	111-501-107	Amended	V. 40, p. 431 V. 40, p. 431
V. 40, p. 923	111-501-109	Amended	V. 40, p. 431
V. 40, p. 923	111-501-149	New	V. 39, p. 72
V. 40, p. 924	111-501-150	New	V. 39, p. 72
V. 40, p. 1159	111-501-151	New	V. 39, p. 73
V. 40, p. 1160	111-501-152	New	V. 39, p. 73
V. 39, p. 1081	111-501-153	New	V. 39, p. 74
V. 39, p. 1081	111-601-4	Amended	V. 39, p. 1117
V. 39, p. 1081	111-601-6	Amended	V. 39, p. 1117
V. 39, p. 1082	111-601-35	Amended	V. 40, p. 580
V. 39, p. 64	AGENCY 1	12: KANSAS	RACING AND
V. 39, p. 64	GAN	AING COMM	ISSION
V. 39, p. 65 V. 39, p. 65	Reg. No.	Action	Register
V. 39, p. 74	112-105-1	Amended	V. 39, p. 251
V. 39, p. 578	ACENC		-
V. 39, p. 579		Y 115: DEPAR	DIDIG
V. 39, p. 580	VV11	LDLIFE AND	PAKKS
V. 39, p. 626	Reg. No.	Action	Register
V. 39, p. 626	115-1-1	Amended	V. 40, p. 498
V. 39, p. 868	115-2-1	Amended	V. 39, p. 1525
V. 39, p. 868	115-3-1	Amended	V. 40, p. 1131
V. 39, p. 868	115-3-2	Amended	V. 40, p. 721
V. 39, p. 869	115-4-2	Amended	V. 39, p. 617
V. 39, p. 870 V. 39, p. 901	115-4-4 115-4-4a	Amended Amended	V. 40, p. 1132 V. 39, p. 1527
V. 39, p. 901 V. 39, p. 901	115-4-6	Amended	V. 40, p. 500
V. 39, p. 1082	115-5-1	Amended	V. 39, p. 1103
V. 39, p. 1115	115-6-1	Amended	V. 39, p. 1103
V. 39, p. 1116	115-7-3	Amended	V. 39, p. 1528
V. 39, p. 1116	115-7-10	Amended	V. 39, p. 1528
V. 39, p. 1337	115-8-1	Amended	V. 40, p. 1133
V. 39, p. 1405	115-9-6	Amended	V. 40, p. 721
V. 39, p. 1405	115-14-12	Amended	V. 39, p. 1271
V. 39, p. 1406	115-14-13	Amended	V. 39, p. 1273
V. 40, p. 42	115-14-14	Amended	V. 39, p. 1275
V. 40, p. 43 V. 40, p. 44	115-18-7	Revoked	V. 39, p. 1528
V. 40, p. 44 V. 40, p. 200	115-18-10 115-18-12	Amended Amended	V. 39, p. 1528 V 39 p. 1529
V. 40, p. 200 V. 40, p. 430	115-18-12	Revoked	V. 39, p. 1529 V. 40, p. 721
V. 40, p. 578			-
V. 40, p. 579		NCY 117: REAL	
V. 40, p. 1139	Al	PPRAISAL BC	JAKD
V 40 p 1140	Reg. No.	Action	Register

Vol. 40, No. 31, August 5, 2021

Register

V. 40, p. 920

Reg. No.

117-8-3

Action

Amended

# Kansas Register \_\_\_\_\_

#### AGENCY 129: DEPARTMENT OF HEALTH AND ENVIRONMENT – DIVISION OF HEALTH CARE FINANCE

Reg. No.	Action	Register
129-6-103	Amended	V. 39, p. 1557
129-9-9	New (T)	V. 39, p. 647
129-9-9	New	V. 39, p. 1019
129-10-31	Amended	V. 39, p. 800

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 SW 10th Ave. Topeka, KS 66612-1594